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Which of the followmg objectives are true with relevant of Tamil Nadu Sac:lal
Welfare Board?

L. Upliftment of people living below poverty line through voluntary institutions

in the state
I1. To pr-omote setting up of Non-Governmental Social Welfare Organizations

III. - To render technical and financial assistance to the volunta.ry institutions for

better quality and standard of services

IV. To strive for equality between men and women

| A ILIIandIV

(B) ILIland IV
1, Iil and IV

' @/1 11 and III

(E) Answer not known
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- Choose the correct statements related to “Black money”

(2)

(b)

o)

These are assets not reported to the Government at the time of their

generation.

" Estimate of black. money in-India for the year 1983-84 is 95% of GDP.

“T'ax havens” are typically big countries which impose high tax on the

foreigners who decide to settle down.

& () only

®
©
D)
(E)

(b) only

(a) and (b) only

(b) and (c) only

Answer not known

s@HLY Uamt QgmLiuner Sparanid saphler/sapmsafier &rﬂu.mecnmﬁ;ém;o Csitay Geiiwajlb:

(a)

)

©

&)
- ®)
©
D)
(E)
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Statement 1: A major issue highlighted by cénsu_s 2011 is that there are around

50 lakh less children in age group 0-6 years in census 2011 than

census 2001.

Statement 2: Population growth rate between 2001 and 2011 is lower than the

)

(B)

(@

- Population growth rate between 1991 and 2001.

S1 and S2 are correct but S2 does not explain S1 '
S1 is wrong; S2 is correct -

Both S1 ahd S2 are wrong

2 (Q)/ S1 and ‘32 arélcorrect and S2 explains the S1

(®

Answer not known

sapml: 0-6 Qi Gybmssaian aanaiisas 2001 wssdr Ggros sarsts@LmU

eU9GW0CuTg 2011 wéser Gsras sans@a®lfe awom 50 @lsb ey
GODHSETETE. @S 2 LD wp&slu  Grsseanuns 2011  wéser Qgrens

sansQsHUGD S igé STL_LILL HErers).

sapm 2: 2001 wpmd 2011 %®®5@$@ Qe erar waser Qgres eeniss eisb

®)

®

(©)

@)

(E)
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4. What are the recent trends in the global economy Whlch has Ied to RBI ‘sell buy
swap of USD/INR

(a) ~ Financial markets worldwide facing intense selling pressures due to the

spread of Covid-_lg infections.
(b)  Slump in International crude prices.

(c) * Emerging market currencies experiencing upward pressure.

(A) (a)only
B b and (c) only

Q7 (a) and (b) only
(D) (c) only

(E) Answer not known

o_evés G]urr@mr_rg,rrg,&@én #iBis CGursgsaiey aranas GHSHw fﬂ&r‘ré’u amduler (RBI) =Quwfss

Lmer - t@;agﬂu_l B LT ..‘GQ@@Lb—surrrfm@Lb’ uflrbHndens @eru_lsbu@gg, SMTETLONS

DGO ETETE) ? .
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B) () wppid (©) 0. God
© (@) wppid (b) wiGid
®  © e

(E) eflen Qsflweidvene
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Name the first backward classes commission established in the year 1953.
"(A) Mandal Commission '
®)* Kalelkar Commission
(C) Harbajan Commission
(D) National Commission for backward classes -
(E) Answer not known '
19536 Amiaulinl L @pse WHLESSLULL eGLILEH Dpmemugde Quwemys GHILGLay.
(A)  DERTL G peeRTILILD : ' :
- (B)  anCGees %GH}GWUJL'DI
(C) anfuger emerTd
D) Qersmdw @J@uq&@é;éarrem Coélwu gyenemtiLid
(E) eflen Gsflwelerene

- Which of the following statements regarding Arignar Anna is / are correct?
(a) He served as the sub editor of the “Justice” Magazine |
(b)  He became editor for “Viduthalai”

(c) He was associated with activities related to Tamil Weekly paper “Mudi Arasu™
(A)  (a) only Ra) and (b)

(€) ()and(c) - (D) (a), (b) and (¢)

(E) Answer not known :

- @iflet sigrant LpBlu eflwurer spen / appsemer Caiey Hawiwa.

(@) e B8 usHNmaulern Hemenr g AMwrTe LalwmHHlerTi

(b) ‘epsme’ usHiamasuder 2Afugrs Laflwmdler

(© ‘waurs aab sBlp eury @s Gemturer Lafllsefle FEULLTT

@ @uolpd B (@) wppid (b)

© () wpmid () D) (@), (b) wpmid (c)

(E) = elenL Gsflwelerene &0

In 1944 at which district conference, ‘Justice Party’ was converted into ‘Dravidar
Kazhakam’? '

(V Salem : B) Namakal

(C) . Dharmapuri (D) Trichy

(E) Answer not known

194446 peor_Gupp g sl 8, Hyreli swsons wrdlug.
(A) Gsewd ' : : (B) . ;r;rrmésaaeiﬁ o

(C) srwym . (D) Hmss

(E) oflen Gaflueicene
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8. Which among the following statements is not an objective of “Cradle Baby Scheme ?
M To ensure adoption of family planmng

®)
©
D)
(®)

To eradicate female infanticide

To increase child sex ratio”

To increase the rate of girl child hteracy '
Answer not known

Gemau(mid sapmissailer Qs ige Gubms HULsHar Cprésid -@@mr@@ g7

GV

®)
O
)
(B)

IL.
II1.
IV

(A)
(©
(E)

ik

HE -

(A)

©

(E)

GR1P/21
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Gbos undlar ddssms sdefluug
- Quewt Ghangasailer sdeflwdlae oifafiiug

eflen Qg,rﬂmaﬁ]@msu

- To transfer the substantive provisions under the Indian Penal Code

Dowry givers should be excluded from punishment
Appointment of Dowry Prohibition Officers

The marriage expenses should be hmlted to 20% of the annual income of the

' glrl s parents/guardian.

Which of the above statements is/are true concernmg the Dowry Pr0h1b1t10n'
Act, 19617 !

Ionly ' _ (B)' II only
I and IIT only : OY”All of the above

Answer not known

Qpduw sameans siL_gdlen S seflsrear eldamar wrHmieis)
airsL_seme Qer@LiLiaise sant_enanuiledl(mhg) elevsaiiLi. CouamHib
aursLsmen sl sidlsnilsmer bl L&gg,sb

Smwens CQeweser Queansefler @ug)@g)rrrr | ungsreueiilen e[ eu(HLTEaTSE D
20%&@er @)(m&s Ceuanr(Hibd
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The Sainarasa Suddha Sanmarga Sangam was founded by
(A)  Dr. Muthulakshmi Reddy

(B) T.M. Nair

(C) Thanthai Periyar

@” Ramalinga Adigal

(E) Answer not known

FIOTE E5S EMNOMTES FRISS®S 2 (Heunddwie

(A) Dr. @Q@Qém;&;ﬂ Qpig

(B) ig.erb. prLT

- (©)  sp@s Quiluri

D) Bnisdie sigsd.
(E) oo Gsfluelcene -

During 1820s in Tamil- Nadu the sﬁbordinafe' castes were generally prohibited frdm
(a) Using umbrella ' |
(b)  Wearing shoes

(c) 'Wearing golden ornaments

(d) Wearing turban .

W00 . ® 0,00

(C)  (9,d), @ 2 D) (@), (a), ()

(E) Answer not known

1820 safld BOIDPBHIL 46 sTPSsLLLL sTHUMHEE GUngeuTs saLé Qe Lene
(a) @enL_L1 Lweum(b
(b) a;rreoswﬂ';gqmﬂmgj _ :
'-(c) Fh& Hans ianfleug
(d) il semfleug : _
@ @, 0, | ®) ®), ©, @
© (© @@ e D) (@, (), ()
(E) oflenr Gg_’,ﬂueﬁlsb@a) e
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12.  What are the facts related to defining GDP?
(a) It 1s not for a specific' period of time.
(b) It measures only goods and not services.

(c) It 1s a non monetary measure.
(A) (a)is correct; (b) and (c) are wrong
(B). (b) and (c) are correct; (a) is wrong

(Q/ (@), (b), (c) are wrong
(D)  (b) is correct; (a) and (c) are wrong

(E) An_swer not known

Cwrgs 2 erpr @ 2 pusdl (GDP) Qgriunear sflwrer sapep/sapmsmer Caite) Qeiivatb.
- (a) gx@ g GO L sre uorumpss o NssTas de.
(b) =g “Quirmlsdr” Agmrurer @i @iereiCLwNED, “Caameal” QgTL LTS 2i6.

© g ueb sTyTE yaTeS L@ |

@A) (a) af; (b) wpmid (¢) seum
(B)  (b) wpm () 5f; () saumy
© (a), b)), (©) seum

D)  (b) &f; (a) LHmD (€) Heumy
(E) oflen Gaflweferane

13. Which District is occupying the last rank in Human Development Index in

Tamil Nadu?
(4  Villupuram (B) Theni
(C)  Perambalur - - Ariyalur

(E)  Answer not known

SUILD BT 1g 61T GTHS mn@JLLLb wafls Gubum @ =i Lauamamdd sl b cudlsdlenmg ?
AV il (B) Gpef '

© Gupbugni Dy e

(E) e QsAwelldana '
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14.  Match the following :

(@
(b)
@®
(d)

@ 1 g 3 4
B) 3 2 4 1
@7 3 2

(D) 2 8 4 i
(E) Answer not known
Spsa_cumenn QLIMBSSIS :

< Aflwur
(a) me&nswg,rr&&
(b) @engen
(¢) pmwdlmegenren
(d) srwer. Gar

)
®)
(©
(D)

(E)

Author
Vannadasan

Ingu.lab'

Ramakrishnan

Cho. Dharman

@ ® © @

@ ® © O

1 2 8 4
3 iy SR
4 3 1 2
2 3 4 - 1
eSlenL Gg,rﬂh_laﬁlsbsma} .

griiens e

Book

Sancharam

Sool

Kaandal Naatkal

Oru Siru Isai

“ umpuq/qgga\sl.b

F@HEMLD
&6

a;rr'_r'r,ggsh rr_r,m'_a;c;'rr

- nm n Qos
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15. Child Development Index takes into account of the following factors

L Education:
I1. Income
III. Health

IV. Nutritional status

Select the appropriate combination.

A) I, IlandIII

@ 1,111 and IV

© L IandIV
(©) ILMIandIV
(E) Answer not known
phes CoibL 66 @A Gerab sTiatsems smids aBsss Qunchdipg) -
1 s@d i |
IL m@m&_mm
L sangmyb
IV. ool é585 Hleve
sfren Caidmseu Csita) AaiiLayb.
(& 1. T ispgn I
@ LI mw&) 4%
© L Ipgd IV
O IIIIwppnlV

(E) een Qsfwellcvane
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16.

17

18.

Punjabi language has close connection with :

Hindi and Urdu
(C) Pérsilan and Urdu

(E) Answer not known

ui@gsema Cwmdl
)  adlbd wpoid 2 B!

(C)  unpésib LHHID 2 (HS

(B) oo Qsfueierene

(B) Hindi and Sindhi
(D) Sanskrit and Hindi

o L6 Glg;@réla‘ﬂu_l QST 2 L wig.
(B) afipdl ppid £5S
(D) siavdmEDd LHYID aflbe

Which article of Constitution of India mentions the abolition of untoﬁchabi.lity?

(&) Article 16 (4)

(C) Article 18

(E) Answer not known

@ Article 17

(D) Article 19

GBSl Cﬂ;mé]_u_ls\)emmu.lﬂsﬁ THS FTSS) -ﬁséaﬁ_rrsmo Uit upidl G uuﬁl@aﬁlg}g]?

(A) 16 (4) s75sl
©) 18 sr5s

- (E) e Qsflwelerens

(B) 17 s75g
(D) 19 syss

Which ideology threatens Indian Unity?

&/ Communalism

(C) Democracy

(E) Answer not known

(B) Communism

(D) Socialism

eTbs HMmES LD @HHL @DOImLL AEENSHIEDS?

Ad) aEuyuTsd
(C) wsserm_&

(E) e @g,[ﬂu_iaﬁlebsma)

(B) @urrg;a.lsm.é)m
D) Gerfludlsn
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19.  This place is located 12 km South East of Madurai. It proves the fact that an ) urban
civilization existed in Tamilnadu in the Sangam era on the banks of the river Vaigai.
A researcher and retired civil servant Thiru R. Balakrishnan pomts to the
similarities between this civilization and Indus valley civilization. :

- Which of the following places is déscribed in the paragraph above?
(A)  Azhagankulam
(B)  Porunthal '

(€)” Keeladi
(D) = Kodumanal

(E) Answer not known

QeuallL b wgy@ridmbs Csadlipse dosudeo, 12 4.8, Asrawais simwbsererns.
sllpasdler mams ydDusETEd shssTe BET Bl S@LHHGHSS LHHU
2 emreloell  UmpsTHNEng. < rroFSlurermd e Qupp  Sis &Qasmﬂqurrm

Blh. 7. Lunedlmaegemmen, E)niE SnDBSHHS 5rrasrﬂasg,g_‘,]ggm 8bg swQeusl prefass HEid
2_GTaT @DHMIEEEET &19.6 STL_(HEpmT.,

Goed @Ak Bierar @)L b wing?
A) sipsagend
(B)  GQummpse
© &gq
D) Casr@uwenred
(E) &len Gsfwelicrene

20.  Which book explains the four noble truths of Buddhism?
(A)  Nettiprakarana

& Petakopadesa
(C) Buddhadatta

(D) Ananda
(E) Answer not known

- GHS USSED LSS ogSSer Brens q@ﬂg; > GHTENLDSHEET @9@&@&]@@9
A)  OpligQysmye
B) 9 _CaruGsen
©  usssssn
D) epsr
(E)  &ler QsMwelicranay
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21.

G, B

Who first brought Christian faith into South India?
(A) Martin Luther 3 (B) Ignatius Loyola
(C)  St. Francis Xavier - (Y”St. Thomas

(E) ~ Answer not known

(PSE (LpSedled é]@g,gjsu pllsamasamu CseareibduirednE GlameTihgeuT wmT?
(A) g6 QIsT (B) @&Canfluien eGuwimaym
(C) yeis Qyrendlev Caellwim _ D) yeafls smoev

(E) eleor Gasflwsiidvena :

This Philosophy was purportedly founded in the 5t Century BC by Makkhali Gosala.
It. was a major rival of vedic religion. It reached the height of its popularity during
the rule of the Mauryan Emperor Bindusara around 4th century BC. This School of
thought was followed for nearly 2000 years through the 14th century CE in the
southern states of Karnataka and Tamilnadu

Which school of thought is described above?
(A) Carvaka

®)y” Ajivika

" (C) Lokayata
(D) Mimamsa

(E) Answer not known

Péssgeud H.0p. Syd mIDpra@TY WwaETE Garemrmd HlmeuliulgmhésoTD eTerm

SMLLLRADE. Qs Cas LssHDEG Aumd saurars QmHSs: @8l st &.aup. 4opid -
. pioprege Querflul Cuirer bgiemredlar oy 85 sTassld Lsflen 2 56508 DML HSGI.

@Qsssgeun 9. 14 b miopren® ey SHlLgsii 2000 an@h  sremiser
Qgemorhlemiserer sTHTL&T LOND SUlRsSHD Agm_ibg GeuppliuL g

Guastgpib elaifiiy abs ssgiaisms GHlESDS?

A)  siaursn =

(B) %QQJ&BLTJ

(C) Cersrusb

(D) Owmber

(E) eéfenr Gsfweiicvene
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~ 23.  How the coronation of crown prince was described uncier the Vijayan;agar rule?
' (A) Aswamedayagam :
(B) Pattabhisegam
(C) Satabhisegam
@) Yuvaraja Pattabhisegam
(E) Answer not known
Gﬁ%ugaiﬁ'.%L;@ e Sip @eraurafien (Plg @b ereaumy SIDPEHLILLLG)?
(A) @Jmm@mgmmﬁ;ﬁ) :
B) ulLr9Cagsd
(©€C) esmiCagsid
D)  weurmy L L MICagsbd
(E) e&flenr Qsflweiicvens

24, :If.a simple pendulum with the mass of the bob as ‘M has a time period T, then if in .
the same pendulum another bob with mass 2M replaces the original bob. Now the
time period is (It may be assumed t_hat the string attached to the bob has no mass)

(A) 247
T
(B) =
Q7T
3T
(D) =

(E) Answer not known

M érsBTg) Hlenm Qe ) g,asﬂ@:b&éﬂaiﬂ (simple pendulum) cg;emaieq Cpyb ‘T erew o creng. -
e wiggalaysaiean sarep@en(® wrpniL@eusre ser Hen 2M oy s wrndng. sHCLITE
SIG6 &mmm@ggw GTETEUTEUITS @@5@m? (emep@amTerL. SMEIGL @6 ﬁmmmggmgmﬁm

- &(HSEOMLD)
A 2T
T
®
L T -
-
D) =

(E) eflenL Gg,_rﬂwaﬁiebwm
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25.

26.

Alamgir nama was written by whom?
(A) Jafar Khan

(C) Aurangazeb

(E) Answer not known

S OIDET Bromeney @uhdlwig wri? -
(A) sy smen

- (C)  eyrmRss

(B) efeor Osfweidama

Arrange the chronological order.
Death of Humayun
Second Battle of Panipat
Building at Fathpur Sikiri

e B

Proclamation of Din-illahi

A 2-1-4-3

Ry”1-2-3-4

) 3-4-2-1

A a8

(E) Answer not known

Epasar_cunern sre euflensiuBE5S.

ok amemyefler @) miiL|

2 @ rewTL_mb urrstsﬂl_"Juf_@ @u-rrr'r
3. LGasLLT HaM sl hiLBhige
4 Ser Qeorad b sdlelliy

A 2-1-4-3

B 1=-2-3-4-

(C) . 83=4-2-1

D) 4-3-2-1

(E) eflenL WgMwelerena

17

(Muhammad Qazim
(D) Mukhtiar khan

(B) @anibng sraflid
(D) _@ésg;u_lrrr'rasrrsh
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27.  Which land distribution system adopted by sultans of Delhi?
'(V Igtadari . (B) Mansapdhari
(C)  Subhadhari (D) Zamindhari
(E) Answer not known

QLéved sdvgrenserme erpmsLsmererul L Bl eNHlCwns wpenp 61gI?
. A) @s&szl (B) wergiugml |
(C) susm : , (D) sbergm

(E) e&leL Qaflueleoens

28. Match the following :

(a) Mahabaladhi Krita
(b) Mahashvapati

(¢) Mahapilupati

(d) Mahadanda Nayak

Commander of the Cavalry
Commander in Chief

Chief Justice

Commander of the elephant force

L il o

@ ® © (d)

A 4 3 2 1

@& 2 1 4 3

©) 1 2 3 4

D) 3 2 4 1

(E) Answer not known

Epsam_eupann QUTHSEIS.

(@) wsmured dmss 1. @deorueL saud
(b)  wsmeveuLIS 2. LenL_g gerLig)

() wsrigud 3. soamw BHud

(d) wsrseaTL BTWS 4. wrenenLt LienL_ SerLig)

@ ) @ (d)

(A) 4 3 2 1
(B) 2 1 4 3
€ s 4
D) 3 2 4 1

(E) eflen Qsflwelievenen
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29,

30.

31.

Who was the Director General of Archaeological survey of India at the time of Indus
Valley excavation?

(A) Dr. R.D. Banerjee Mir John Marshall
(C) D.R.Sahani . . (D) Max Muller

(E) Answer not known

&g Fbeuef .:";;aﬁggeurrr;rmf_léﬁuﬁ]sin CGurg @ndw GsreGunmer gyuieiear QuaEnT Geeanme

wimr?
A)  wpeaereuir R.D. unenied) (B) &I ggmenr Lnrrfrsigaéu
(C) D.R. sapnaf (D) wr&ev wpeveor

(E) &llenr GQsflweiicvansy

‘More than 500 seals have been discovered in Indus Valley civilization which are all

(A) Gold . (B) Silver

(€)” Terracottas (D) Copper
(E) Answer not known :

i swleuafl prafasser 500-&@w @LD[]:)I._II'_L_. pSHleayadt saTELHESULLLE. Semeuser

2 surflEsiulLg).

A sEsD B) Qeusrad

(C)  wairawrmed QeinutiLc L g (D) Gaby
(E) eflenL Qg,rﬂﬁ.:a&]ebsmeu '

The source of dendrotherm.al energy is

(A/ Biomass (B) Coal

(C) Pyrolysis (D) Natural gas
(E) Answer not known

wyGeuiu 2 Hmeder (deﬁdrothermal energy) Sy erarLig)
A) 2\rsdger ' : (B) flessfl

(©) Qavudlemsay D) Quhens eumyy
(E) e&flan QgRlwelierene : '

19 GR1P/21
[Turn over



32. Which of the following is the consequence of climate change related warming of

rivers?

(A) 'changes in Wai:er salinity
Mhanges in fish migration patterns
(C) changesin pathbgen load

(D) changes in contaminant levels

(E)  Answer not known

Uemeumeuareupdlev erg Blasatian srablene GgrLurer CeuliLiwibrgedler edlanare,?
(A) B 2liys seenio THDEISGET

(B) Benser @LUGuwiTey (penm TDHDEISET

(C) Cpmusdfidser ereiranfléans wrhHphiser

D) i oiEss LGSO IHDBIsEH

(E) e&lenr Ggflwelleveney

33. The major cause for the'depletion of Ozone is

(V Aerosol

(B) Hydrogen Sulphide
(C) Hydrogen Sulphate
(D) Carbon di oxide

(E) Answer not'kﬁown

@Csmaner SIfl&EEGL WEHW Srenf
A) grstiuLewb
. (B) Gﬁ)@)l'_l;rgéh & semLI(H)
(©) mr@mt'_gggéifr &G
D) smruer e ys@en(H

(E) @9@L Qs Mweleena
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34.

35.

The pollutant which cause impairment in plant metabolism is
(A) Nitrous oxide
(B) . Carbon di oxide

(QV Sulphur di oxide
(D) Carbon mono oxide

(E) Answer not known

(e_r,rraur;'-..aumﬁ('ﬂmg wrHn&SHD Genrur_ L gHLESGID oms
A)  eplyev sEmav(

(B) &3rrr'n_t6'o'r-em,-.=gcbéswqo@

©C) sour-o_-ysma(

D) sriuen Curamsamev(H

(E) &leor Qsflwelcvens

The Chairperson of National Disaster Management Authority is
(A/ Prime Minister

(B) Home Minister

(C) The President

(D)- Defense Minister

(E) Answer not known

Caflw Cumum Gueramrento 2L, EDERTILIS S 6T HEDGVGLIT

(A o wpdf

(B) eodrgieon wpdl

| C) seamdud
- (D) ungismiygiewp wpS

(E) eflenr Qsflweiidvana
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36. The most important scheduled tribes of Uttar Pradesh and Uttarakhand

(A) Todas
(B) Nagas
(C) Santhals
(B/ Tharus

(E) Answer not known

2 $879rCsad HMID 2 SSTETETIG 6 L& &S L@rﬁ@q_uﬁlem’r

A CGagmurf

®B) s

(C) ampseven
' (D)  smgev

(E) oo Qsflweiloeme

37. The most populous_State of India is

(A) Bihar
(B) Maharastra
@©” Uttar Pradesh

(D) West Bengal

(E) Answer not known

oFls &5 QgTasamu QararTL @‘r_r)ﬁu_l wrbletd
@)  Sepri
B)  wamrasg
©) esdr9nGssid
D) B s
(E) eflen Qgrﬂ wedeensy
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38.

39.

40.

The total no. of railway zones in India are
(A)  Fourteen Zones (B) Fifteen Zones

(C) Sixteen Zones (D) Seventeen Zones

(E) Ans i . THE QUESTION AND ANSWER ARE TO BE
BWEE oL 108 PLACED BEFORE THE EXPERT COMMITTEE
FOR FINAL DECISION.

@pdHwredle pulerCeu warr_emisafien Quorss rarafiléams

A) udemen weTL g (B) udleanibg e _emiser
(C)  uermyr wehTLeBIGEHT (D) udCenp warTLBIGET
(E) e Osflwueldena _ aCadrall wpgid el Gmz) gy allpsrs

aldqipr @pellda (par @aldsiuL 2 diarg).

soil is found in all the districts of Tamil Nadu except N 11grls

(A) Red soil ®)ABlack soil
(C) Laterite soil (D) Sandy soil
(E) Answer not known : '
e aes, sOln priige fodflowu sy wHp @asg wreal L hiseaflgbd
srent L (HEmg).
(A) Qsiwer : (B) sflsed wewr

©C) smssoWT (D)  wewTéd WweiT

(E) e Qsflwefdene

Identify the option in which the rivers are given in North - South sequence.

(A) Godavari — Mahanadi — Kaveri — Krishna
GV Mahanadi — Godavari — Krishna — Kaveri
(C) Krishna — Kaveri — Godavari — Mahanadi
(D) Kaveri — Godavari — Mahanadi — Krishna
(E) Answer not known ' '

QL &G - (snE euflevsulicsr ymiser QETHSSULIL(HETET QENenD S|EHLULITETLD STeTs.
(A) (‘Sa;rrgrréJﬁl — waEd — srGeufl — &mayamrm

(B) wsrpd — Cargraufl — fmagenm — srGeu

C) dmeyenmm— srGaufl — Cargreufl — LaTHS

.(D) &nCeufl — Camgmeufl — waTHS — &l(meigemwrm

(E) efleo Qgfweleraney
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41. A super computer that allows researchers to model energy technologies using
artificial intelligence is

(A/ Joule 2.0 (B) Watt computer
(C)  Zetta scaler (D) Fugaku
(E) Answer not known : i :
- wrdfl ppe Agmife @Lugﬁmm aprmiESureriaeT Q&u_lgjemas mlawTanTle, @,peuua
aulgeuennss Galiujid Gobul L saflef
(A) e 2.0 ' (B) eum_ senfla]
(C) & LrevCsei 3 D) uysrse
(E) &fen Qpflweidene 2

42. = Which of the following facts about Covid-19 virus is / are wrong?

(a) People who have been infected by the virus but do not have symptoms do not
spread virus. :

(b)  Reinfection is not p'és sible.

(¢  Anosmia (loss of smell) is a symptom.

(d) Babies do not ge.t infected by Corona virus.
(A) (a) and (b) only

Ry (), (b) and (d)

(C) (c)only

@) (d).only

(E) Answer not Iknown

Gameill_-19 eveugen Qg;rrl_frurrm &(QasrT@nw gapmisafle g,aig)rreo'r saenm /b misener (Egarrau
- Qadiweyd

(@  eeurev Aampm ehuigBLlayb, SiblGHlsar @eengeuiserTed Qgmhmy LFeurg).
®)  evwean QsrHn gHuLL ‘r_r,u.@és'@ Bewr(Bb Qsmdm FHUL TS,
© ‘wsipg 2 an@mb garen Gl - Qstsmodler Sifl@GHungD.
@  epiossEse @50sTHn urang.
(A)  (a) wppd (b) LG
B) (a), b) wpyd (d)
(O (©wien
(D) (d) w@w
(E) eflen Qzfwelerenen
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43.

44,

“The one who gave false judgement (Ethilélan), was deeply hurt by himself as a
woman who pulled out one of her breasts to burn the city”.

These lines which seem to indicate the story Kannagl is found. in which of the
following Sangam Literature texts? -

(A)  Kurunthogai (M attrinai
(C) Puranaanuru (D) Akanaanuru
(E) Answer not known :

‘gdlamerer seume Heuhm

B0 Yoo SiNEs Sl 2 dnell -

samansluder eurThHeDnE @gﬂuugj Gurew srepru@EL @ eieuflser @LL’Q@QQ’)Q} SIS
Qesdun

@A)  enpEsmms (B) pppleva

(©) upprem ' D) <ispranmn

(E) eflenr Qs flweldeme

Which of the followin'g rivers originate in Karnataka?

1. Bhavani
II. Palar
[II. Pennaiyar
IV. Cauvery
Choose the correct one :
A LI II B) IV, 1,11
§ (%) Nt 1 o 128 | @1, 111, IV

(E) Answer not known

EDE®TL_AUDMIET CTHS D MiEET STBTL& mwﬁm&;g‘,\@ 2 HuSHwTS emen?

i ueurme

II. uremm)

III. Quemenemtwimmy

IV. smefifl

sflwreneuneny Camhb0s[HESD :

) L1 10 : 5 ®B IV,L1I
{Cy - MLV, 1 (D) 1., III, IV

(E) oo Qasflweiidveney
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45. Consider the following statement
(1) India Introduced the family planning programme in 1950s
(2) - The family planning programme adopted Neo-Marxian approach to birth control
(3)  End of National Emergency Ruled out compulsion in family planning
(4)  Planning and implementation was carried by central Government

Choose the correct answer :

(A) 2 and 3 only correct ( 1 and 3 only correct :
¢y 2 and 4 only correct (D) 1 and 4 only correct
(E) Answer not known

SpsERTL SaHMISSmET as@g)a;;m :

(1) 1950 =yib yam(Baseaier @pdu GHLL sLEUILE HLLsms SNwpstuBsSug)

2) GOwu s Eur® Sirwvrag yHwu-orisdu eGPl oigliumL e
Qe L g

(B) GCsflw ApmEsy. (PgeusEE QJJ:E{Q%GL{IL_.(SE&T GObLU s_EUUTH sLTubrésiuL_aldeme -

@ ALl opyb Qeueu@ssed wiSu sirsre Gopbsmdreriiul Lg)

gflwrer el Cop0sHESsa D : '

(A) 2 wHgw 3w @ & (B) 1wHmbd 3wl @G &fl

©)  2whmbd 4 L@ & D) 1 wHmid 4 v G &

(E) e&fenr Qsflwaferanen

46. Kalpana Chawala Award for Courage and Daring enterprise in 2020 was awarded to
(A) Tmt. Senthamil selvi
(B) Tmt. Muthammal
(C) Tmt. Ananthavalli
@ Tmt. Senthamil Selvi, Tmt. Muthammal, Tmt. Ananthavalli

(E)  Answer not known

oy Qewgssrar, 20201 i,6iq 6 SOLT FTa e 6fl(Hg —————— 5@ AefldEs UL L G|
A)  Hmwd. QepsAp Gsded ' |
B)  dowdl. epssibwome
©)  dowd apsaeraf
D)  Smwé. dspsblp Aawe, SHwd. (pssboeT, Hmws yebseadaf
(E) den Qs flwelevenen
GR1P/21 2 - n



The word “Sustainable Development” is clearly indicative of the fact that
(A/ Natural assets are finite

(B) Natural assets are infinite

(C) - Natural assets are not resources

(D) Present model of Development promotes stability in nature

(E) Answer not known

“Beve Hmsgib <19eflpsd” erenib euniigens geraflwions GHluLg)

(A) Qupes QeTSEIESET (Plg.eDédniq iG]

(B) Qupems Qsrsgi&Eser (plganTss

©C) Qupms QeEnsgEseT QUETRISET 6

D) sHGuTmsW eaniddl wrHfl @upes dvSlrssearamwmu casEalsdng
(E) &ferr Qsflwefvenen

The following are the functions of Niti Aayog.

Find out which is/are wrongly listed

I.  To foster cooperative federalism

I1. To give final approval to five year plans

III. To implement schemes for rural development

IV.  To advice the State and Central Governments on 'Ievying taxes

(A) ITandIl 3 (B) I,1I and III

- (Q” 1 and IV _ s (D) Only IV
(E) Answer not known

B8 24 Guirsdlen Lanflser é(ﬁt{.p Qa&rHsslIuL_(HeTeret

@8l erg)/erena ga‘ug)rrasl Qar@ssiul_(HeTers)

1. gal_(Hmey sl L Senw aiaffrg,gsb

IL.  ppsrean® HlLbsEés Qué GUUSS Selisss

III. oaps auerigdlEsmen Sl L miGsemeT DOLHSSHISD

IV. wsdu wpmib wrhle Sif&sEnée el g Asriurs oiblejar auphGse
A) Iwpmn Il  B) L II wpgw II

©€) II whpyw IV (D) IVuwl @b

(E) eflen Gaflwelicrene
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49.  Which of the following statements regarding political parties in India is/are correct?

| (@) Parties in India function within the institutional framework of a federal
_ structure and are bound by the country’s electoral laws and rules
(b)  Strong institutionalised parties are vital for healthy democracies
(A) (a) only correct : (B) (b) only correct
(V Both (a) and (b) are correct (D) Neither (a) nor (b) is correct
(E) Answer not known :
<irélwe s’ daer Ghlég Spsramiu@b arsdukiseie e/ erame sflwimamamen?
(a) @pdu wrflue st dser em gl Lm &l aaml;'LsdeL]L;é;@siT GeweruiBlenmer Cogyd
Brigen Caigen 1L riseT Hmid elfsEnéeE s HliuBéamen :
(b). Spliuter  geTpTLs  BTHSEEEE eugeuTea .'rf;]gueummrrés&ijugi__ s fsar B
(&S wTaTeamal :
A) (a) oL@ s | (B) (b) wi @b &M
©) (a) wppib (b) LG & D) (@ wib @oeme, (b) Lb Gowma
(E) oL Gsfueiodma e

- 50. - Which of the following (Book-Author) is wrongly matched?

(A)  Half Girl friend ' - —  Chetan Bhagat

(B/ My country my life —  Dalai Lama

(C) Born again on the mountain —  Arunimasinha

(D) The country of first boys o Amartya sen

(E) Answer not known

- Spsamemriu@BLbd q‘&;géﬁréjasﬁﬁ LOYID DG GT(pSFTETIGETD FoupTs QuryssLiul (Hererg

61 ? - :
A)  aprisie.LpeR - G&g;siﬁ UsS

(B) erem Gg).m.b TN GUMLDEHENE - S® @ror

©)  wee By Bear@b GnHGser - simaflorelearan

D) s %@@maﬁmaaﬂ@ Cgeb -  wrgw Qgern

(E) dfen Qsfwellerena

GR1P/21
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51. Match the sport with the corresponding number of pléyers :

Sport No. of players
(a) Polo  Seie vy
(b) Rugby football e |
(c) Hockey ;s
(d) Base ball : 4. 4
@ 0 9 @
A 1 3 4 2
4 1 2 3
ey 8 ; 4 2
) Py 2 '8

(E) Answer not known
sreTLUBID efleamiTiig ener .@15@@ C‘ég,ema.m.mea‘r eyisefen erewramiLen QUITHESIS

eflenemwim_{ eSyiraer eTewr
(a) GunGer | i
(b) &9 sreouBE o AT
(c) ammsd 3. -8
(d) Guevume 4. 4

@ (b (@ (d)

(A1 -1 3 4 2
B) 4 g D 3
e S 4 2
an 1 4 2 3

(E) &flenr Qsflwaelevane

52.  Which of the following is/are not situated in Rajasthan?
(a)  Dilwara Temples
(b) Mehrangarh fort
(c) Bara Imambara
(d) Purana Qila

(A) (a)and (b) : @) and @)

(C) (a)and(c) (D) (b) and (d)

(E) Answer not known

&pamsmuu@uema_las@ﬂeu T8/ eTaneu Jngcmg,rrsaﬂa) <iemhSléseiidana?
(a) Seeurgr Carelerser

(b) Oueprrstt CamenL

(c) LT @OmbLIFT

(d) yygmenr Heomw

A)  (a) womod (b) (B) () wpmd (d)
©) (a) wipgod ©) D) (b) wpgid> (d)
(E) eflerr Qgflwefevene _ |
n ' - 29 S GR1P/21
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. 53. Match the following women personalities with their achievement

(a)
(b) Sarla Takral
(¢) Arunima sinha
(d) Surekha Yadav

() (b) ©
(A -1 3 4
B 3 1 2
@ o
D) 3 4 2
(E) - Answer not known

Personality (Name)

Anna Rajaram Malhotra

(d

= N = D

Achievement
India’s first female to fly an aircraft
India’s first female train driver

India’s first Woman IAS officer after

independence

First Indian woman amputee to scale
Everest :

Spsararriu@b QUET FTEERTUITETTSEEET SieuiTaeT srgemean L sflurs Qunmssis

(a)
(b)
()

(d)

(&Y
(B)
©
(D)
(E)

GR1P/21

. angenamumen (GlLwim)

Sjereu Freyrrmd woGanrEym

&G &6

2Bl Seramm

&CraT wrsel

R e
1 3 4
3 1 2
3 1 4
3 4 2
eflenL Qg Mweldana

(d)

= b B b

30

ST
@ndlwrellen pge Cuemr eflwme
Qpdwnelen wpged Glusr Gruied U
sepdly  @punelen  ps@  Gueir
IAS oiflamfl
GreueL Harsams SIDLBS, &Ted

SlewTig SHULILL (1S @ bdlw ClLiewr



54.

55.

. (a) apwl

Match the Tourist spots of India with their States

(a) Hampi 1. Andhrapradesh
(b) Horsley Hills 2. Uttarakhand
(¢) Hogenakkal : 3. Karnataka

(d) Haridwar 4

Tamil Nadu

2 Ay (b) (c) (d)
(*)) 3 1 4

B) 1 g 3
) 2 4 1
Dy -4 -8 g

(E) Answer not known

= O o DO

@B wreller SFHNIOTE SOBISENET DGET wrhorsGerm® QUIHSSS

< pSrl GrCseld
o SlramenTL_

i

(b) anmievCe GemmiseT 2
() gCaarssa 3. sMpIL&D
4

(d) anfiggeumt SRC

@ B (d)

(A 3 1 4 2
B) 1 2 3 4
Tua e 1 3
D) 4 3 2 I

(E) eler Qsflueldana

Where was the venue of the 34 Global conference on road safety in collaboration with
WHO and world Bank in 2020.

(&9 Stockholm . (B) California
(C) Holland ; (D) Geneva
(E) Answer not known '

2020096 2 @s ssrsTy Hoeuand (WHO) wpmib 2 s eurudl (World Bank) @mm‘mgj &TEN6D
ungisTUY upPlu Seug) sTeuCses sHSSTBIE perL- QU @)L 1D 6rg)?
(A)  evrsCanmid (B) Gsedleouimraflum

(C) Ceaprempgy (D) Qgeafleur
(E) ofle Qsflweiloema '
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56. The term biodiversity indicates
(A/ Species richness and ge'netic variation
- (B)  Species richness and habitat diversity
(C) G-ehetic variation and diverse ecosystems
(D)  Species richness alone

(E) - Answer not known

Qai)@[uﬁl[ﬂu_wb Seveg) 2 ulfltiuemowib erern LB GNUDAGeug
A) GeEdeseio wHmid wrue Ceaumum®

B) @easlswenw wHmb eurpedi_ i LWL |

(©) wyugy Caugin® LHMILD LIDEINS FLPWELOLIL|GET

D) Qens@sweno wi_(Hibd
(E) oflen Gsflwelidvenay

57.  Kidney stones are formed by the Precipitation of the following chemicals

I Cystine

I1. Oxalate

II1. U_ric acid

IV. Sodium

(A) TandII BT, 11 and 111

(C) IlandIV. (D) L II, III and IV

(E) ~ Answer not known

ahs Gremuer Aumr@Lser LigausSler apeod Anbrs shser o (peurddman
I Sevwar | o

I oysamCarl

III. wis ofewp

IV. Gsmgquib
A) LuopgoII (B) I, II womb I
(©) I whmnd IV D) I, I, III whmin IV

(E) el Qaflweldrana
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58. The colour of the skin in ripened apple, tomato and grape fruits is due to
accumulation of '

(A) Carotenoid | (B) Lycopene |
W Anthocyanin (D) Ethylene
(E) Answer not known

LWss e, sasmefl wpmib S ensufler Corellen HlpsHnHEé sryemid
A) sCprigemmi® . (B) e@esGasmier '

©) yarGarensweafler D) esHadlen

(E) oo Qsflwelerenen

59. Single cell Eukaryotes are included in
(A) Fungi : (B) Monera

(€ Protista (D) Archea
(E) Answer not known

.@_foemggé Qe WG Désdr Qainmier aHe =i kiEHns?
A) yepews (B) GQumesflym -

(©) yGpmligevLm : (D) eyrsHwr

(E) eflenr Gsflweldvens

60. Inthe Haber's process for the manufacture of ammonia
#" Finely divided iron is used as a catalyst
(B)  Finely divided molybdenum'is used as a catalyst
(C) Finely divided nickel is used as a catalyst
(D) No catalyst is required

- (E) Answer not known

-G,@nufr Qeweapanmuiled, SdCorafiwim Wil se0ley
A) Am gsarserasliul L @by elenan s wns LweTuRE DG
B) Am gsarserrssiu L wredlliiGigend eflenamusdluins Liwie @ﬁm@
(C) 8y gsasermésiul L ﬁ&aséb eﬂémemgé;é]urr& vweru B na)
D) s deanysdujb ComeitiLiBaidldme
(E) ofenr Gsflwelldvensy
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~61.  What are isotones?

(A) Atoms have same number of protons but different number of neutrons
(.V Atoms have same number of neutrons but différent number of protons
(C) Atoms have same number of protons and neutrons

(D)  Atoms of the same element with different masses

(E) Answer not known

e CamGLmenaeT cremie Wreneu?

A) e85 YCrriLmer eemefiisamsud orpull Blul grer aareflémsud 2 @i
DG S&HET ' '

B) @é5 Pulgrar aamafsmsuyd wrpul UGrTiLmer aaraismsub 2 Lw
DI S&ET

(C) e&5 LCrmimer oHmib Bl Jrer cTanTent e LiD 2 L L iemi&EEHeT

D) wmulL fepymrw @Gy saflnsden sgmdsern

(E) e&fer Asflweilcene

62. Silicon is one of the best known semi conducting material. As its temperature rises
more, it becomes a better conductor. But the temperature at which the silicon gets

permanently damaged is

(A) 100°C @ 150°C

(C) 200°C _ . (D) 250°C

(E) Answer not known

Aellsamen, &Sons SHwLLLL @Gmg)esl;‘&,é,]aamﬂeb @amr@h. Siger  Geuliublensy
2flsfNsamsuier 25 HAphs sL_sHuUrdpg. DT em Qeuliufleveuis fdlssrer Hirbsrons

QawiedlipliLig
(A) 100°Ce (B) 150°C &
©) 200°Ca& - (D) 250°C &

(B) eflenL Qs flweildvena
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A rock containing the fluorescing calcite is illuminated by ultraviolet light. Then, the

colour of the rock seems to be

(A) Violet
(B) Blue
(C) Green |

(D/Red

- (E) Answer not known

gafl 28l srome oL s Caram. gm uten Upsast geaflurd geffelésiu@Sng.
<CGung), urepulen Aipwres Coramieag

(A)  eagr
B) Bewd
(C) uésws
D) Seuiy

(E) &fenr Qsflwefdena

Raman effect is scattering by
(A) Pure Solids

®)” Pure Liquids
(C) Pure Gases
(D) Impure Gases

(E) Answer not known

@rmwaer elleaneney ereuciens gaflFélsne

A)  srieoure HLLAUTGLsaid Hapb gellédlspd
(B) gntijsmwuﬁw Sreumisefle) Blapb gefléélsmed

(C) gniewwren eurysaetie Jﬂ&;@[ﬂ gafl&élspe

D) gnuewwpy euryssafler Hlawb gaflédpge

(E) e&fenL Qsflweilcvens
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65. The common table salt is
M Compound & (B) Element
(C) Mixture (D) Alloy

(E) Answer not known

Qung) Guers o LiLimans;

(A) Ceivd ' (B seflwid

(C) semeu : : . (D) a@a)rr&sésassﬁsm;u
(E) o&flen Gsflweiidensy

66.  Which of the following statements is / are true related to COVID-19?
(a) Adding pepper to your soup prevents COVID-19
(b) COVID-19 is transmitted through houseflies
(¢) 5G communication networks spread COVID-19
- (d) Sun light does not protect oneself from COVID-19
(A) (a) and (b) only
(B) (c) and (d) only
(C) (o) only
@ (@ only

(E) - Answer not known

Camedl_-19 Qamiurer SpsTamb aaig’)guasmﬂsb gflwires aal_r_i)emm/ah,r_f)gjassmf Cairey Qewiweyw.
(a) b umELD eﬁ@él v (@) Wer@ Caringred @bCHTL QsmHenn &HEsomD
(b) eSiliged 2 drer FESET ppELDTE @g@gng’)g ureyLb I
(0 5G Qg,nemsvréf, QLT euenaudlen ppeLoTs Camed-19 UgeLb
(d) Gflw @Grﬂ emeuamy GCamelll-196 @) (mbHg UNGSTESTS)
@ (2) wppod (b) v Gd '
B (© wppid @ e Gid
©) (o) wipd
@) (@) wiQo
(E) oo Qsfweildvene
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67.

68.

On rear wheel drive cars, with the engine in front it is a common practice to weigh
down the trunk in order to increase safety, when drwmg on — :

(ﬂ/ Icy roads © (B) Muddy roads
(C) Hill roads (D) Plane roads
(E) Answer not known

wpauss Quipdlyn Carar.. Ger séa7 Quisdl srisefld urgsTl9psTs gf,sm@ &EDLD
@Gmg)uugj TH Li@Gdudle @L@mgymasrras -

(A) Uaf&sL g FTeneser (B) Gebdmé snenevser

(C) o sraresen (D) swser snenarsar

(E) &ferr Qsflwelrene

With whom can we associate the folloWiﬁg quotes?

— “Be Educated, Be Organized and Be Agitated”

— “I like the religion that teaches liberty, equality and fraternity”-‘
— “Life should be greater rather than long” .

QA}/ Dr. Babasaheb Ambedkar

(B) Thanthai Periyar

(C) Karl Marx

(D) Mahatma Gandhi

(E) - Answer not known :

Epsreriibd ereuhL e — @) bs ConCandraeamar @gm_-m_p_J BSs5eMb?

~ “seeflwble Quy, Si@wiLTE et Ser, eribeswp”

— “mrer el(mdLID LD(G;-}LDITIGGTQJ &SbITD, F0gg 0D, FCETSTSSIOID q%aﬁ]umm_mg)@u mél&Ew”
— “cumpéens eremug) o wiflwgns G @réss Coauar®Gw sedly Berorangns sioa”

(A)_ LrsLiT. urunsrdll subCugan

(B) shens Quilwrt

(C)  snite Lmiga

D) warsLTETHS

(E) ofen Qsflweiidvansy
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69. Speciﬁc Experiments -
1. Blue Litmus paper is dlpped into hydrochloric acid and it is changed into
Red colour
2.  Blue Litmus paper is dipped into oxalic acid and it is changed into Red colour

3. Blue Litmus paper is dipped into sulfuric acid and it is changed into Red colour

General Law : Acid 1s __turned into blue litmus red. It 1s called

- Reasoning.
(A) Deductive (B) Critical
(C) Everyday (M.nductive

(E)  Answer not known

Apliy uNGergaanser :

1. Be dllwe sreaer mant Crr gGarmfls Siflesdlea paassnd, Sigl fleuliLing wrmib
2.  Be e sreer o&emels Sifl@sSl0 BSSTO, Digl feuliLing LMD

3. B el e sraer 568 SilewsHe paabsTe, oig feuliuns wrmib

Qurg Qg : dewrears) ,rEeu ey Gmener feuliuns wTHHL. QS

2 IBSHHD eTET SIMPESLILIHILD.
@) uessd (B) @opsreid
©) SepCsmpd " D) Gsressd

(E) oo Qsflweicranen

70. Arﬁong the following whom can be considered as “an intellectual who anticipated
Dr. B.R. Ambedkar by two generations”?

(A/ Iyodhee Thass Pandidhar (B) Raja Ram Mohan Roy
(C) Ishwar Chandra Vidyasagar - (D) dJyothi Rao Phule

(E) Answer not known

Spsravueiiseaflo wri “LrsLir B.R. eubCussor Grem® g)cmeu@emma;@aa@ apenGL
adiCrredu siflayent walsi arars smeULOEDTT?

A)  =Cursd gmev LiTg ST : (B) grggmymid Glomser g
C) meveuy #Hdly NGwnETET : - (D) Cgrdlgreu yCeo
(E) &L Gsflweidvenc
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12,

73.

Name the Chief Minister of Tamil N adu, during Anti-Hindi agitation in 19659
(A) Kamaraj (B) Rajaji

( Bhaktavatsalam (D) Sathiyamoorthy

(E) Answer not known '

1965 & Qi erdliiy Cumpm_L b BLibs Cuing SUIPBTL 16 WT PSO®ESTTS @@5;_5rrrr?
(A)  smwoyTy ' (B) grgmed

(©) ussaissRD D) ssHwepisd

(E) efenr Qzflwelleraney

Thanthai Periyar passed resolutions for the welfare of the women in the
Suyamariyathai conference of

(A) Madras (B) Coimbatore
(C) Salem @ Changlepet

(E) Answer not known

shens Guflwrt swwflwreg wreT e Quanseflar FoassTs g]L_L_rm&.m @uppiul L
@

(A) Guigmen (B) Gsruwuggnt

(C) Gsew _ (D) Qsrsul_(

(E) e&fenr Qzsflwelidvena

Thanthai Periyar referred as the philosophy of Self Respect Movement to
(A) not having belief in next birth

(B) not having belief in God

(C) there was nothing beyond sexual pleasures

@)~ doing a thing which one believes to be right on the basis of reasoning,
thereafter, if any correction is to be made, correcting the mistakes on the basis
of reasoning and also having the mindset to accept the implication of such
actions

(E) Answer not known

snHens Auilwrgre swwflurens Qusssslen $656UD 6Tand SanLILILLg) WTg?

(A)  woy dpdde pwEms @ B)(HLLIG)

(B) @oneuar Bg BGsms G moe G@HLULS)

(©C) Aoppleusdne Cuerers gemib Gloame eretn &bsaer

(D) | ugssHedler sigliumLuled sgeaseE fwern BoLms OGFueug, ey

QewisGer  seumsear @ mLber, uGsSshitg  HmsHebsmereug, Clogyd
Sjeuaileneraisenet o HMISESTET(@HLD LETLILITEIE,

(E) &ferr Qsflweldvena
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74. Who presided over the first Madras State, Self-Respect conference?
M Soundara Pandiyan : (B) Dr. Subbarayan
(C) M.R. Jeyakar - (D) E.V.K.Sambath

(E) - Answer not known

paereug eaneaman wrkle, swwflurms LIBT®LS smamwbGunmn ‘l'_l')I_g.';élu.IJ@Jff WITT?.
(A) Qeempdy LnaTigwIeH ; (B) L. slurgmuer

(©) 6Tib.<y 7. QEWEST - (D) r.e9.Cs. sdUS

(E) oflen_ Qg,ﬂmaﬁlebmsn _ '

75.  Match the following :

(a) Swarajya 1. T.M. Nair

(b) dJustice 2. T. Prakasam

(¢) Dravidan 3. Thiru.Vi.Ka

(d) ' Navasakthi 4. Bakthavachalam

A S e

@ 1 2 3 4
(B) 3 g v

g 1 4 3
D) 4 3 2 1
(E) Answer not known :
Epsarr_suhenn QUINHSSS :
(a) swrgmRwT F Iq-.6TLD. [BITWIT
(b) g@bum’u‘ 2 4TS TED
() Symellan 3. dmeis
(d) peussd 4, LS SEUEFLD

@ k) (© (d

e e 3 4
B 8 .4 1 2
) 2 1 4 3
D) 4 3 2 1

: (E) &flenr Qzfwelieranen.
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In 1916 ‘South Indian People’s Association’ was renamed as
(A) Home Rule Movement
(B) Madras Association

GC/ Justice Party

(D) Dravida Kazhagam

., (E) i Answer not known

1916 1> () ApenafpHus ésar HPsd b gy Clebren - mven pAA LA 517
B)  seram s @uistd

(B) Qoenear srsid

C) fHssL

(D)  HrreiL spstb

- (E) oo Qgflwellsvens

Which political Association became known as Justice Party?
A Home Rule League

(B) Home Rule Movement

Q” South Indian Libera_‘gi.on Front

(D) - South Indian People’s Association

" (E) Answer not known

abs 2w @ BHs Hurs mn@u@é

(A Copmbmirdts. |

B)  Gapmb me apeuGuoarr

©)  soys @eimswan SILCTsen AyaRr

D) sous Qe wen QyiGeired oGemAGuISGT
(E) el Qsflueloene
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78.  Who first introduced Cartoons picture in Tamil Magazine?
(A)  Ramnath Goenka .
(B) TV Ramasubbaiyer
@7 C. Subrahmanya Bharathi
(D) G. Subramanya Iyer
(E) Answer not known

WPBET (PSES) H(HSEGILLL BIG@mET SLOLD @g,gg;%erﬂéb.&@@aaa U@SHweur wiri?
() by i |
(B) TV TG LIGRUIWIT

() - C. st yweamy Lmyd

() - G, &rlinﬂll;rmaicrru_r s

E) oL Asfuciaoame

79. Which of the followmg idea does not fall w1th1n Thantha1 Pemyars deflmtlon of

Civilization?
(A)  Accepting every.religion
(B) Trying for others also to get whatever good one has got
(C)I The total progress. of all human beings =
e M Progres_s based on the scientific inventions of today and making life pleasant
-(E) Answer not known : ' = -
praflen -i_|rn')rrf)1u.| speng Quflwmfer eusmf;'u_lémp)é;@sh g_i;ul;nga SMHSSTESLD lLJ.ITgJ?I
B)  Sieanss) weEB@ETLD GHHIEASTITEHED - ' |
(B) - pen CsTeTL.  BemenLose Lng)g)mrr&‘,@a;@m LIUJGUTL:@LD cuanauSlevmen @u_lg)él&a)m
Gup@sreres) :
(©) q"%‘mmg@ meﬁﬂg;rras@a;@mrrm @pw(ﬁmgpmm _
D) QGeaewpw odlefuien esm@lﬁ]quqaa@ﬂmm) @:fg)u@LD (IJDGDTGGSF!DED@JLD @aﬂmwunm '

eurrggaaemasu_;m

(E) ele Qsfwelerene
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80.

81.

A)
(B)
©)

(D)

(E)

A.P. Periyasamy
Pandithar Munusamy

Irattai malai Srinivasan

Answer not known

Who started the journal namely ‘Dravida Pandithan’?
~ D. John Rathinam '

THE QUESTION AND ANSWER ARE TO BE
PLACED BEFORE THE EXPERT COMMITTEE
FOR FINAL DECISION.

el uemmq.g,em eTenmD ug@ M&enasemw C%Umlﬁlg,gmrr wimi?

@A)
(B)
©)
(D)
(E)

4. ggrem Tédlend
er.19. Qulwems

- UGRTIg ST (e

Qe wene Fafleurgen

cllenL Qs Muweldena

BatGadrall wpgo allew @my) @py ellpsrs
aldgIni @pallda @ madsiuL 2 darg).

Name the women leader who participated in the Neil statue satyagraha in
Tamilnadu in 1927 — : ;

- (4)

- K.P. Sundarambal

®R)”” Padmasani Ammal

(©

@)

(E)

‘Muthulakshmi Reddi
Selvi Durgabai

Answer not known

' Gueimoerl (Hurd)) -
A) GCs.9. &Jg;_g,ljrrmurreif
B)  usorETefl Sibwrer
(C) @‘&,@é}u'_m@"@ur'_m_-
D) G]&d)ﬁﬁ] gITGSTUM
(E)

eflenL_ GgMuwieldvene

slpssse 1927 oyb SO} Bev 2 (meu é]smsu &g,ﬁlué]gra; (Surrgm_l_‘e_r,‘é,]a) Sehg GlsmeTL
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82.  Which one of the following statements is/are correct regarding Chenbagaraman pillai?
He hailed from Kanyakumari dist. of Travengore State.

He started Bharatha Matha Valibar Sangam

He married Laxmlbal of Indlan National Army in 1931.

o e

He Jomed the German Army and ﬁght against the English in ['world war.

(A) 1,2,3 are correct 4 incorrect
(B) 1,2 are correct 3,4 are incorrect

(C)  1,3,4 are correct 2 is incorrect

('y 1,2,3,4 are corrept
(E) AnsWer not known

Sipeumid appisafie Qegmusyniver Seraer LpHu sAlurer sadOI/ saDOiSET cToU?
5e Geuit Hmeuriigm yfe saraflwrgofl wre L sms sTibgeur.

2. Gleul LTYS MG QUTENLIfT ERIGLD GTGBT@LB SioLIeHL ComhmieSlgsmi.

3. Qe @by Gsdlu Tramiaisms gnﬁp'ggy olallurew 1931 & @@LDG&:TLI) Qedig
Qs memrLmT. .

4. @eir Qeioreflw ueLled Gaimnbg ngeu o sliGurflée mdCawmss adlynes
Gumgmigesmi.

(Aj 1,2,3 &, 4 seuprans

(B) 1,2 sflureng 3,4 seupnang)

(C) 1,34 sfluneng 2 L Hib geuprang|

D) 1,2,34 sflwmeng) :

(E) oL Gsflweldene

83. Which Woman freedom fighter par_t_icipatéd in the Madras salt satyagraha?
(A) K.P.Sundarambal (B) Muthulaxmi Reddi
(€#” Selvi Durgabai (D) Padmashini Ammal
(E) Answer not known '

eTb% ell(Bgemets G myrlL Quesoenf] Quol_grev 2 (L #5Hwnélyasdle seobs) Qa;rrs&mun‘r?
A Gs\. FHSTIDLITET ' B) szl Gy
(C) Qeeel giigsmumi D) uswnflefl ybwrer '
_ (E) efenL @sflwefecreneo :
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Which_ one of the factors responsible for the South Indian Rebellion

@) Company Reforms in the palayam

(i)  Economic exploitation and heavy taxation of the company
(1) Famine in 1798 '

(iv)  Frequent wars of the company

(A) (@) only - (B) @i only _
(€ (ionly = e (M), (ii), (i), (iv)

(E) Answer not known

SLpseuTL asrr;rswﬂa;arﬂeu @gmeﬁﬂgg]u_: eﬁ]mrr&é]&@ STTERTLOTS SIeMDHSS) s'r@'?
(@) ureverwmsefle swEueiudern FTdmssniser
- (11) &G Qurr@mrrg,m;r S ITEHTL_6D LD;DQ;LD cg;;g‘,]asuqu_lrrem auifl el
(1) 1798 & gHuLlL LEHsDd
@v) swluaf pLssHw Sliq S81q Wirer GLITT&ET
A @ oinn B) (i) . Gb
(C©) (i) wL@EwL : - (D) @), (1), (1), (v)
(E) e&fenr Gaflweliicvenad :

: - - these three for aye to rulers of the land belong”.

In the above Thirukural the word “These three” means
(A)  Education, wealth, bravery
(B)  Virtue, wealth, bliss |
(C/ Sleepless promtitude; knowledge, decision making
(D) LO\'re., Decency, Affection

(E) Answer not known

_ @ibapermid

Brism ﬁ]eusa’rrrm UeH(E. - '

" Gupsranib SmsEnata @LLD@LJQILD @LD@GM@JLD erenegLd Glagmen @;ﬁ]uumsu
A) soed, Qseeud, afyb

B) b, Qurmer, Gerub

(C) gnréjasrrsmm, seed, glenfley

(D) ey, LewTy, UTED
(E) el Qzflweilerena

iz . gmiPm
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86. Whom does Valluvar call a fool, though he is learned and scholarly?

- (A)  One who fears to talk in the assembly of the learned
(V O.ne who does not get along with the society
(C)  One who fears to go to the battlefield '
(D) One who fears the rich |

(E) - Answer not known

uesHoD iHlefew Wg;&ﬁ eram eum@surr wreyE s HApmi?
A  eHCpmi é{smeuuﬁ]eb Glu# S|EHEF eTmeUenT
- B) 2 ws5Cs10) &8 ‘r_ryt_ésasrrggsuému . .
©) Guﬁﬁéﬁa;mgﬁ D& Qe g@a&aﬁls&rmmm&
(D) G&ebeu(r_'ag,smﬁés ST S| EHEE e
(E) oL Gafueiidana

8= —— These four a hght of dreaded kmgs reveal What are the four virtues
: of a King accordlng to Thiruvalluvar?
~ (A) Creation, Production, Pro-tection, Planning
B) Morality, Wealth, Happiness, Eternal dwelling place
(y Beneficience, Benevolence, Rectitude and care for his people
(D) Al the above ' | '
(E) Answer not known

€@

BrenEb 2 el wirenmd Ceupsias qaf”, ésm Gu@'rr@s;.r'r’r creupenm Ceuhsaid@dh
Fa.mif mmr?
@) @upps, FLé, ST, sEEAEHES
(B) <, Quirer, Gemib, )
(0] . QsrenL, smenenr, B, HoTiHS @Lnressmmé; ETEHS6
(D) Cupserr asﬁsmré:,g}m .
B o Opucicome
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- 88.

89.

What does the followmg Thirukkural reiterate? “Who with dece1tfu1 mind in false
way walks of covert sin, The five-fold elements his frame compose, deride within”

(¢ ‘V.anJa manathan Paditrolukkam Boothangal
IAainthum' agathe nagum”jl '

(A) False respect (B) False truth

(Q#” False behaviour : I (D) False pretence

(E) Answer not known

Ql(Ehe mea‘rg,‘e_c,rreﬁ Liig HEMTSSLD LshiseT -

BHEID 5565 pEWD - @HD elunss LGS og?

A) Gune wilwres _ - B) Guned gsuisrsmm. :

(C) ~  CGurell gpésid (D) Gurell gLy
(E)  &feni_ @g;fﬂtuaﬂabma) :

What are the facts related to Hand Samtlzers‘?

(a) most of them are acid based and not alcohol based
(b)  they are flammable. _

(c) they are effecnve against spores.

(d) itis correct to nicely wipe oﬁ' hand sanitizer from the hands before it has drled

(A) (a)and () only - &) only

© @only O @y

(E) de Gsfweavana

AE) Answer not known

s sgdlefuurer (Hand Sanitizer) Qgmiumer 2 amenismend Ggitey Gy :

(a) Qu@munwrrarrsmu 2Bl g liLemL FMIHSME, YDEADTED g ULIL STibEmal

SO,
b) e pers erfludsnig wWana.
(c) oY Qgeh@ﬁlmga;@é;@ ardlymen Qawensasid Qsnawr_oa.

(d) ossafléd oder ‘@sssdasiiuner e amb WaGL dsman Baprs m&&aﬂe&@p@
- genLuug &rﬂu.rrrem@grr@ QFwed y,@Lb.

@) (@) whpi> (©) w (b B) ® w oo
© (@ weid S ) G
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90. How does Thiruvallu\fér guide us to overcome trouble?
(A)  Accepting trouble |
(B) Fighting trouble
(Q#” Giving trouble to the trouble
(D) Feeling Remorse for the trouble

(E) Answer not known

sleugens eTeuaumy Gleuced Geueaw (B eremm l(pauetEreu ApHLLGSSSDTT?
A)  @tueCl pnEsmiesd -

B) eadrssl CurprBged

€) geausdne gemiw ardsse

(D) gemusdlen Curg eumbHSISD

B oL Qpfiseldene |

Gl Irandum Thangaa Viyanulagam

Vaanam Vazhangadhu enin”

(Though the wide world lease and —— : If heaven its watery
treasures cases to dispense) '

What are the two good deeds that will not happen according to this kural?
(A)  Charity, Love (Dharmam, Anbu) I
@ Gifts, Austerities (Dhaanam, Thavam)
(C) Penitence, Pleasure (Thavam, Inbam)
(D) Virtue, Money (Aram, Porul)
(E) Answer not known
__ Qe srism QQUJ@]GU&SL'D
aUTenD UPRIGTE) erafler : : _ :
Gupsrenib §méEper erelelomasd pamL QUDTE e &.0iEng?
(A)  siiod, e
(B) smamb, seuid
(C) seubd, e
D) <=po, Qu T(HET
(E) e&fewr Gasflwsicvena
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92.

93.

What are the symptoms of COVID-19?
(a) Fever, dry' cough, fatigue :

- ()  Lossof taste :
(o) Sore throat

(d) . Breathing difficulties

4) (@) only ~ (B) (b)only |
€ (@only Q). B, ©and@
(E)  Answer not known ' : :

&@aarr@l.b &@@ﬁ&aﬂ@ Camell_-19 Qg,rrL_.r'rurrmmaJ eTaneu?
(@ smissw, aupl B @, Ceriey .
(b) smeu Sdluyb Smer @evemioed Gumeug

{c} @g)nsﬁﬁrmt; auedl .

(d)  epés aHeudle Aywd

(A) (a) wl_(Hwb : _ | (B) (b) wl_ (b
O weiee D) (a), (), (©) Wi (d)
(B) ofeL Gsfwucldeme ' S

~ Pick out the effect that is not related to the impacts of Earthquake.

(A) Fissures

(B)  Collapse

(C) Tsunamis . . _

(Dy Depression zone formation

(E) Answer not known

| L—_b&'-t;u urdlliyaGern(® Qgmriunmn eflenereneu Qe Ceuis.
(A) YGereyser ' ; : '

® SENTIOL L LDTSED .

©) sambsd

(D) smpey waITL@D 2 (HAUTHD -
(E) eYerr. Gsfwellevane

o | : GR1P/21
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94. Whom does Valluvar refer to as blocks in the kural
“Arampolun koormaiyar renu marampolvar”

(“Though sharp their wit as file, as blocks they must remain..”)

~(A) Those who speak useless words
(MThose who are void of humane courtesy

- (C) Those who do not have love in their hearts
(D) Those who covef others things ;

(E)  Answer not known
“SrbGumeLb FalfeLOLl Crepid rbGureeli”
Wb CUITETDAUTEST GTemm CUETEHEFTE @gﬁ]ﬁl&]t_uu@ueur'r wim?
A)  uwalle Heme CuaLieur
(B) LD&SET Qeﬁmx_; Geerseur
(O  ssde s Qoongeurt
(D) Gpfer QupEsEES BpameriLGLoT
E) oo Oplucdoms

95 According to Thiruvalluvar ‘what is friendship with the gopd’ combared to?
(A) Having friends who make our heart happy
(By Having books that give perpetual delight
(© Having a face that shows anger
(D) Having a staff that measures one’s friends

(E) Answer not known

LUSeESTmID LieTLEnL_wimemT @g,&pﬁq erensLl Gurﬁr&iﬂg}gj eran Sl(heuaTEneuit aamgt'é]g)ﬁﬁ?
(A) g{éspaes pLug Curearmg) | | | !

(B) gﬁ@ﬁ]@b@g,r@m [HITe) BUiLh GQH@'&E@@

(C) s0s38 sr_Bb apsb Cureams

(D) a%]smm@cm& Blig @eriiuCsi Came Gumenps

(E) efar Osfucidema '
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The saying “Thirukkural” has a balanced religious quality is because

e People from all religions say that it belongs to them

e Becausel people who say there is God and people who say there is no God
accept it whole heartedly

3. It is beyond Type, caste', religion, class

4. Because it writes about ethics and knowledge needed for human race.

(A)  Only 1 is right (B) Only 2 is right

(C)  Only 3 and 4 are right -~ (RQ)All the above are right

(E) Answer not known

‘FW pHHlooU LTy Aera_g §l(He@Gnar erant @ésmDnsE sryamd

¥ eTRTE FLWISSHD &l 6Tl B ereml samyd APyl QupDSTD

2. sLeyer 2.am(h ererueu L Hlendl @l eTemUaIBL 2 QbS] FDELD eﬂﬁ)quu
- Gubmsmed ' ' :
3. Banid, 578, SLOWID, euELIL Gre'oéorrauﬁ)@;b@m ﬂuurr:rf)LJl;l_gnéJ

4. wefls QarsnEL QUrgeTer @upssptd, Siflab ﬂ@m@gga Q_@G}_Jgrrsb
A) 1wl o i  (B) 2wl @waf

() Bupns bl aied : D) simansgbd &

(E) e&lenr @grﬂméﬁiebemv | | .

.'Who is the author of the novel ‘Manalveedu’?

(V Anuthama : (B) Bama

) A v (D) Indumathi
(E) Answer not known : |

‘enred (1) erenm BHreuadler <A Mwir wirr?

B) s | B umer
© oveu . © @S
(BE)  dfeL Gsflusiome
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98. Which of the following book recéived Sahitya Academic Award written by Melanmai

Ponnusamy?

V Minsarapoo

(B) Kalmaram
(C) Ahayathukku adutha veedu
(D) Appavin Sinekidhar

(E) Answer not knde

Guanearenn Qurargyssmdluder srdlsul a..ﬁr-r.Qg;L& ufleg Qubp ueml;f_lq eTEI?
@)  Sewmiy

B)  souond |

(©) . %gwwggé@ 2SS 619@

D) eiuneder ACHA ST

B o Opfluciscme

99. Who wrote the poem that has this as the opening lines
— Anbu Sivam irandenbar érivilar? .
(A) Il’atliirlakiriyar e
- (B) Pattinathar
(C) - Bharathiyar
(D,y Thirumoolar

(E) Answer not known

‘e @QJUS]&G&UIT C.Jl_s'oTQ glefleom

— aras @g,krl_réJ@Lb UL aneoL un@mmr‘r u.trr.r'r?_

() LsHrafun B) Litwenssin
(©  umBumi - D) Howei

(E) '.gﬁ]ma_ Qg fweilcvenen : ' |
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100. Which of the following epic describeé. the significance of Thamizhar’s music?
. (ﬂ/ Sil.appathiga.ram :
(B) Manimegalai
(C) Neelakesi
(D) Kundalakesi

(E)  Answer not known

silpiaaier Genss SpliSlenert rsr@(e_'r@emr;é;.@@ sTUGwib Grgg’l?
@) - fevudsmd ' '

B) waflCwsame

(©) . BaGss

D) o otss

(E) ofeo Gsfweierena

101. Who among the four Nayanmar made his heart the temple for Lord Siva?
(A) Kannaﬁpar I
- (B/ Poosalar
(©) . Vaayilar .
(D) Sambandar -

(E) Answer not known

egsre SeigisEs Comuile sLligu .,r_r;rru_lsinmrrr'r WITT?

(A)  sa@rewiur

(B) uygeon
(C) eaumleomt
D) sbwpsT

(E) e&fenr Qsflweiicvensy
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102. What are the characteristics of a classical language?
(a) It has an independent literary tradition _
(b) It has a large ancient body of oral literature only

(c) It has a large and ancient body of written literature

(A) (a) and (b) only (B) (b) only

(C) (c)only QM&) and '(c) only

(E) Answer not known :

S0 QabClwrflufer Liamsers SLpsmamib G_ng,/ﬂeu@mml @ﬁ)‘IQLﬁ]L_GurrLb?

(a) J@([BQ e/ seflsg) lerbigid Gaéau oL

(b) I Qumd ug&srml_u Lbfj)gij eumiGQumAuieorer @esdw umpbufuges wLEHGW
CsmemrL_g| :

(c) GLipid LaTenLw wHHIL erpsULL L Gesdw urrbuflusens Garar. g

&) * (2) wppi> ) i OB B MG
(C) (0)wi@wb ' D) (a) wHmb (¢) L Hib
(E) dflen Qaflwelevene :

103. Which characteristic is expressed in the 'Perumpaanatru Padai’ Verse?
("Mahamural mahamurai nokki Mﬁhanamardhu Aaana viruppin Thanin rooti")

~ As the Mother willingly watches over they Child. Himself stood in the opposite
direction and saw

'(A) Charity (Kodax)

(B)  Valor (Veeram)

(C)  Motherhood (Thaimai)

(Q/Hospitality (Virundhomputhal)

(E) Answer not known :

“LD'a;(gJemrrr) wapen Crradl (psaomhg) LT aﬂ@utfﬂsﬁr g;-rrszsﬂ%'ﬂ o ig”
— @uQu@burarmhmitiLenL. LT el erliua GeueluLBdEng?

A) GamapL
(B) &Spw ._
(©€) smuew

D) A@BCsTOYBD
(B)  &flen Gsflwelcvene
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- 104. According to the evaluation report of Niti Ayog 1elated to Mmlmum Support Price
(MSP), which of the fo]lowmg statement (s) is/are correct?

(@)  MSP is declared before the sowing season.

i e idéa'behind_ MSP is to give guaranteed prices to the farmers and save .

them from price fluctuations.

(¢)  With globalization resulting in free trade in agricultural commodities, it is not

important to protect the farmers from the unwarranted fluctuations in prices.
@) (@, @only |
® (@), () only
(©) () only
(D) (c) only

(E) Answer not known

5] %Gmn‘ssﬂem @emg)gg,ul_& 2576 sﬁlaﬁeu (MSP) @g;m_rrurrsm mﬁuﬂ@ éqgﬁ]as@m;uﬁ]am Lilg
Eparamid mgr;g; s/ saDmiGET &rﬂu;rrm@j/&rﬂu_msmmm G2

(@ “Eoppsuleysie)ddoe” dlmsiis srasdnE wartu <ifledés iLGd
(b) “@mm;’aguu& &6 eflene” e G'[F)IFT‘SSSISL-D @Slmarruﬁla;(\égé@ efenev &'éj;glj’a_lrrﬁtb.
. - @efliug <2}, (GLD. =
© e espwwtssdend ghul e sHEG soLLDD wissasdar elmameuns eflasmu
Qurmerseilen  eleeuded ghuD GCsmawpp gbp  Gnésnisafo @@)g@
.aﬁimgnuﬂa‘;@m &STULIG @éeﬁ LILDEIG | . I
B) @) ()L Bi
B) (a), (b) L Ew
(©)  (b) L@
D) () vl
(E)  Nen Asflwellerenay
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- 105. Accordmg to Nobel Laureate Abhijit Banerjee (Econom1st), what is the only solution
to overcome the economic pain in the short run in the wake of Covid-induced
economic crisis? :
(A) - Putting more money in the hands of big corporates
(B) - Giving more tax cuts for big corporates -

(Q/' Putting more money in the hands of poor.
(D)  Giving more tax cuts to the poor :
(E) Answer not known

Gpmue ufle Qupp QunmerTsry .@;g‘ﬂ@rr @nﬁ]@g Gumn@uﬁ]m apOILiU., GamallL
Qu@mBasTHDTEO @urr@a‘mgrrr,r Apm&sy goul_Haerg. Qbs OpmSsigLTeD GHLL ([HeTer
QurmeTTsm eusllenw GEnEL sTe SgtiueL W sLULSHETEN STaIrs el & piesl mrr@?

| A) Que Hpeamsefer mesafle idle Liawid Qararr( Cariug
B) Qum HpeuamseErsE afl G@pUy deliaig '

(C) gey ereflu wasaflen amssaild idls Lewd Qaran(® Cemiug
D) gy erefllw wWasEHHE euflGemnliy Qeuiieug)
(E) e&flen Asflweierene

106. Regardmg the Indian economy, which of the following reflect, unprecedented
suspension of economic activity in the f1rst quarter of this fiscal (April-June) due to
, the Covid pandemic ; :
(a)  Contraction of around 50.3% in the construction sector
()  Contraction of around 39.3% in the manufacturing sector
(c) Contraction of around 10% in the agri, forestry and fishing sector
(d)  Contraction of around 5% in the Trade, hotels, transport sector

& (2) and () only ®) () and () only
(©) - (b) and (c) only (D) () and(donly
(E)  Answer not known et e

T @idw QurmeTTsTrSs CUTNISS ey, GamelL QupbAsThore @Qbs HiFwramg.en (pFe

- sme uEHue (glre - gen) @urr@mrrg,rrr,r {f;l_@JLq.&SGBéB&BGTﬂGD apan eruGUrgIDd Qs
QLD (PL&SLD FHULL ).
Eheramib shmisailes aeney Qb asﬁﬁrmmwm'@uaﬂus&é@@mw?

(a)  sL@uwre uaflsaie swori.50.3% smésn .
(b) 2 HUGE ._gjmg)uﬂsb-a;mrrfr 39.3% &(m&sLD

(©  Geuerraimenio, cuaeQuicd whmid Bemeuer 2 HuSH QD o 10% smosd

(D) aisssb, srEb OB/ 2 amrasd wHmib CursEe 1&g gevpsafla &t 5% &HSsLD

@) (@ wppi> () LG B (@) oppb © v
© (b wppb (© Lo D) B wpps @) bl
- (E)  e&fenr Qgflwelerene ' L : '
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107. Which one of the staterﬁent 1s inclbrrect r-eg'ard._ing the mesolithic period.
oo It is the Stone age between Paiaeoli.thic period and mesolithic period.
oo Tﬁey used tools of made up of Keny Small Stones :

3 _.The Theri Kadugal of Thirunelveli region belonged to this period
4. Tlﬁs peopié butned their Dead bodies. | -

THE QUESTION AND ANSWER ARE TO BE
PLACED BEFORE THE EXPERT COMMITTEE

‘ _(_A) _1 only _ -' ' : FOR FINAL DECISION.
_ B 2only '

(C) 3only

(D) 4 only

(E) Answer not known

 Spsam_emeusaile @& sHETD LHHIW smppiseie SeupTeang) 6Tg)?
1 @é;’esrreu@ LU EHETOSSIEGD LS 8HSTOSSIEGID Qe LUl L STl
2. @ibwéser 0aE APw spsaTarer smelamar LGS e

3. Hpepatad wral Lo stauu@b Csfs srhsd Gors sHsTasms &nﬁ;i;g,rra;

'$@§,uu®aﬁ1@@.
4. = @)&ESTQ &S @mgg,_mm@m arflpgant. _ |

| . L @&G&dmﬂ m;’pggu’;l CETECTT | (y)n}ahj)aiu _
(A) 1wl G - - : ' - aogipi gopella par ealssiuL 2 drarg).
(Bj 2 150 (i i -
(C) = Swl(bd
:(D) 4 1o Hib

(E) eofer Gzfluiallcrensy
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108. Match the following :

(a)
(b)
(c)
(d)

Backwaters
Canals
Dug out Canoe

Dams

@ O @© (9

A 4 '3 g
B) 3 2 1. 4
C€) 4 2 Byt i
(D) 3 | 4 2. 1

(E) AnsWer not known
QUIBESS :

@ s - 1
(b) sroeuml o0
(©) _@@aﬁ@m@ . 3.
(d) é{é‘mﬁﬁb‘f s 4.

)
®B)
(©)
(D)
(E)

GR1P/21

@' ® O @

4 3 2 1
3 e
4 2 3 1
B g 2 1
elenL Qs flweldene

1. Linking up of river system for irrigation
2. Used for crossing broad river
3. Connecting one water way with other

4. Used for some limited navigation

.gﬂgog')smg) Lngansdl Dens LwaLHSS

Quilu g Heom SL&s
@ BT aufaw winCsr( Qaanss :

G erefhE e bif @un‘%@mq‘&,g :
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109. Choose the corréct statement related to recent Bank mergers in'India

110.

(@)

(b)

A

(©)
(E)

Large Banks will be able to borrow more from the market and thereby help
the economy revive.

Bank merger will lead to increased operatlonal efflclency of the banking sector

(a) only _ - @& D) only

(@) and (b) "~ : (D) neither (a) nor (b)

Answer not known

‘@Qpdureded 8L sremsaid rrr)smL_QuQJLD sl  EaenanTiiL G]g)rn_rrurrem FaHmiseile

sflwreanens Csie| Gawiwey.

(a)

(b)
)

© -
(E)

Quilu aumdlaer sposldBhs @flswrs sl ummieh Snar dsram mewns

B (m&ELD ereugTey, Quimmermgmyd B AL HSsLu{HIb.

curidl @enemTlLy, umidls gionler Qeuiddpeear 2 WTESID.

(2) LG g ®B) () wipn
(@) wppid (b) ' D) (@ Gomew (b) Gereve
- afen Qsflwedceane '

Who stated "Man is born free, self Reépect is his birthright, Social Justice ensures

social equality".

)" Thanthai Periyar

B)
©)

(D)

(E)

B G Tilak

Kamaraj

Omanthurar

Answer not known

“weflger ssbhdrons GpsSprer,  &uw Lnrﬂu_jrremg; am@ﬂaﬂ tﬁlmuqrﬂmm sepashdl  Feps
FLOSFIUSDS &gyﬁu@ggm Gres ) ailﬂu.J@_llT WIm? o

A)

®

©)

@)

()

ghHeng Cumwimf
uneﬁasréi.asng,ry s -
5rrLDijrr%

uopgIT

elenL Gaflielidvene
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111. Regarding the word ‘Fraternity’ in the preamble of the Indian Constitution, choose

the correct statement(s)
(a) .It ieaves no rooxﬁ for regioﬁélism
(b) it leévés room for communalism
L I(é) It leaves ﬁo room for casteism
@ (a) and ()
B () only
© @and®)

@) () only

(E) .'Answer not known

@ Bdw &Ué}mmmmmﬁa& wargemrided uuauESSILEL ‘FCsTBISSeUD’ arém Qe
 Qgm_funen Spsrapid B efuimenaubenp Carey et '

| (a) | 18 ﬂgrﬁ@f,]m@rrgﬁ@@@ (@Ll_m'aﬂéasrrgﬂ

(b) &Q'm@uuw%&@m@. g wefléeid

© o srfuanssSine @Lwelssng.

@) (@) wpmid ©)

® ) oen
© (@ wppd G

- (D). (c) L@ |

(B) eferr QsRweieaa
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112. Arrange the Chronolo_gical order
e o Champaran Satya Graha
9. Kheda Satya Graha
3 Ahamadabad Struggle
4. Baisaki day ;
i =2ea-4 B 2-1-3=4
€  4-3=~2-1 ' D) 3-2~1-4

(E) Answer not known
Spsar_aupenn sreaflasiubés)s.
I &TDLI mré'm S ysb

2 Galm égﬁ,g‘,]urr Slysd

3. S&wHTUTS CUTFm_L LD

4, enLigndl BT | .
S s T o 218
e M) 3214

(E) . sl Asfucidme

113. Name the biographical work of Abdul Kalam Azad wh1ch was written durmg his
internment in 1916.

6 Tazkira

(B) Kadith

(C) Hayy Ibn Yagdhan
(D)  Kitab al-Miraj
(B Answer not known

1916 < Bermge flevpaurssdlen CuMg erpsLLILL. SjUFID SOMD .%&rrg;,g‘ﬁsm QUTLDEENS
 #flevgulen QUi eremen?

Q)  segslgm
B) srds
(C)  an Queér wasren
(D) dsis@-Blgrg
(E) o Qsflucioema
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114. Who produced the greatest work Tarjuman Qur'an [a translation of Qur'an from

Arabic to Urdu]? _
(A)  Dr. Zakir Hussain | (B) Fakhruddin Ali Ahmad
(v Maulana Abul Kalam Azad (D) Mohammad Ali Jinnah

. (E). Answer not known

sreoOnar @i [Groailar <@ Qumildmbs e ®s! Gmrr@a;@; Q:EFU_JLULJI_!I_I_. .
an@@uwnuq] erenim W&& mps UL Libeen o (heurddweui wirfi?

(A)  Dr. gyrdi o anger - : B) lusmsSen o6l .gag'ﬂ)mg
(C) Quererar 26 SMDd égpe}rrés (D) @panbws 216 sflereman
(E) d&llenL GgflweSlevensy

115. Whi(:h-of the following statement is incorrect regarding 'Moulaﬁa Abul Kalam Azad?
= He was born in Calcutta ' i .
2 He was the editor of the Magazine called ‘Llsan ul Sldlq
i He pubhshed a journal namely 'Al hilal' _
4 He was elected the president of the Indian national congress in 1923 and 1940.
(A) 2, 3 are correct 1, 4 are incorrect '
(B) 1, 2, 3 are correct 4 only incorrect
R RS B 3', 4 are correct
M 2. 3, 4 are correct 1 is incorrect

(E) Answer not known

aeéggasasm_ FaHMISaTe) QUOETETENT SL|SETLD D4&TS 1Ml g,sug)rrem Sadml eT&!?
s e CLOETETENTT DLIDSTLD &S a;snaag;g;rraﬂa) A HSTT.
2 Bleurt ‘elamen 2 e fsHa eremm LSHMEensuTer u@uumﬂrﬂmfr S, QUTIT
o Beur ivdleme erenn @semip @a_lmﬂ'ugk'_r_rrr'r . :
4 Gair @bdw Csflu sridlgevss 1923 whpn 1940 b ya@rdseia g_semsueugrras-
CambElsBHSsesiucmi. S
(A 2, 3apmser sflwraremey 1, 4 SUDTETENE :
By 1,2,3 aw-_rj)‘@]a;@'rr gflwnearenel 4 eug éh;_b@] FHEUDTES)
©) 1,238, 4smpysd sflureieear _ |
@D 23,4 s pmiser sflurerensy loug sabm seuprens
E) e Gsfluaivme - | :
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116. Which of the following day was named to celebrate the release of Blpll’l Chandra Pal
by Swadeshi Leader of Tamil Nadu.

~ (A) Day of Deliverance (B) Day of Mourning
'(G, Swarajya 'Da_y : i (D) Direct Action Day
(E) Answer not kn'own : '

g@asastm_ aps prets G sheruned elGsme Q&U.JLLJLJLJI_L_ ;r)rrsmﬂ slps &Gs8
. seiser QUL S L ani?

(A) aﬁl@g;amen BiTeT : (B) g&s Henibd
(O) &(—Egﬁ glemd : : (D) Cprg pLsugsens prar
(E) el QsMweddena - '

117. Which one of the statement is correct regarding Bharathiar?

1. . Bharathiar participated in the Indian National Conferance at Kam in 1905.
2. In 1906 he started Balabharata Sabha at Chennai. '
3.  He participated ‘Surat Congress' in 1907 along with VOC.
4. He composed the Poem ‘Vangame.VaIiyave_’.

- (A) 1, 2 are correct 3, 4 are incorrect
(.V 1,2.8,4 statement are correct
(C) ' 1, 2, 3 are correct 4 is incorrect
(1L 2,3,4are incorrect statement

(E) Answer not known

urn;@mnamg Ul %@emmn_ sapmiseiien sflwurens) erg?

. urpdwir 1905—e srflufe pevL Gunm B Cadlu smEsTREG sQHS QaTaTLiT.
. | Sieuir 1906—6 une LNy U eTaTy BienwlienL Deaemaniie) ghubSglenir.

3 - et 1907spb @0 @IS sThdlren sl Sl au.o 8. ujL e sobg Qs rarrLmi.

4. e ‘awbsGo aumfluGel ereamm LML GuinmlujererTi.

A) 1, 2 mpmser sflunareras 3, 4 S DMIGET SeuDTeTaa.

(B) i, 2, 3, 4 mppser sfluraremas

©) 1,2 3apyser sflurereed 4 augl SHD FelnTans)

(D} - 1,234 &TS}.fDQ]BISGiT &GUDTENS) :
) (E)._ edlenL_ @g,rﬂuaﬁl&oama:-

by s | | e GR1P/21
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- 118. The Editor of Tamil da11y Kudlarasu.
M Thanthai Periyar - B C. Rajaji
- (C) Satyamurti. | : (D) ' C.N. Annadurai

(E) Answer not known

Senef praflsipren @i wydler %@rﬂm‘f{ : ,

A spos QuAlun : - (B) &.grgg)

©)  siduepiss . (D) &.ern. scmamgieny
() oL Gsludoms. '

119. Name the person who threw a bomb along with Bhagat Singh on the Central
- assembly in Delhi? - :

(A) SukhDev . (B) Rajguru
(C)  SohanSingh - ' ~ (@”Batukeshwar Dutt

(E) Answer not known

GL.GOG&UE]GD o ¢mer WHHW &L_i_mammg,@em B uasg,ﬁrmg:_em @mm(rf@ @qu.@em@ ei&lw
mLiflen QUi eTéen?

(A) 5060 S (B) Qo E‘%@@
(C)  Gonandr A (D) ulGCsayeu 55
(E) &fe Qgﬂmaﬁ@mm ' '

120. Rabindranath Tagore. renodncéd his knighthood in prote_st against.
) (A) Home Rule League | (B) Khilafat Movement |
(G.)/ dJ allilan' Walé Bagh Massacre (D) August Declaration
(E) Answer not known I '
reSpyTs st agpE ey Osfedss sens UL pes sipbeT
@A)  Gapmbd me oS B) Aorus Guissd
() gréwer aumeruns uBOsTame (D) %aa@b:; Sifsams |
.I-' (E) e&flenr Gsflweiieveney
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121. Which one of the statement is correct regai‘ding the Subhas Chandra Bose?
1. Bose joined the freedom struggle under the leadership of C.R. Das

2 1921, he organised demonstration in Calcutta to protest against the visit of

Prince of Wales
3. - He boycotted the Simon Commission in 1927

4, He sorted on the Secretary and Président of Bengal Congress

(A) : 1, 2 are correct 3, 4 are incorfect
(V 1, 2, 3, 4 are correct

(C) 1, 2, 3 are correct 4 only incorrect
(D) 1, 3 are correct 2, 4 are incorréct

(E) Answer not known
-&lf;ga;séﬁTL_ smpmsaiie sureay sby Curenen LHH! eflwirer saHm 61817

2 S é'rurr@'q; sidy Gumed, H.oufi. grev goaawuile @nslw aﬂl@gému GumgmL_gdled
Gl enemrBSTIT
2. 1921e Gajeb-sh.) @meu&&r‘r asé)&ggrrsqés@ aumans LUfibg GLng) erdlisg) APPRSSOIL_LITT
3. 19276 GO&Lt;GhT sillagener Geuf qu$&mﬂ§;gnﬁ

4. cumEISTeT S Ferdled @&mmrrmgrwsmdﬁ, SOATTEE|D U cudlgsmm

(A) 1,283, 4 seupreng

B -1, 2:3, 4&ﬁi_g.trrsm ENDI

(C)I 1, 2, 3 sRlwiren sapi 4 SeuDTET Sap)
(D) 1, 3 sflwrer sanm 2, 4 g,mg)n@.mﬁ)g
(E) &l Gasflwellevena |

0 ' S R = GR1P/21
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' 122, Regarding the Poona Sarvajanik Sabha consider thé statements.
. L | Mahadev Govind Ranade was tﬂe brain of the organisation
2. The Sabha éwakened the people of their political rights.

3. It protested against the ﬁernacular press Act of 1878.
4. It published ‘Amrita Bazar Patrika’ :
Which of the statements given ab_ove is/are correct?

8 tendzoily
B 2and3only
& 1,2and 3
(D) 1and3only

(E) Answer not known

LT sita ngauﬂés FaUL Ul SmHSSD Qasrérs,
=1 ma;rr(?geﬁ Carellps rramGL Gleuelwsssdler ppameniings Qe L
2. Q@éseu wssellar oipflwe o Mewsamart up;ﬁ]tu aﬁ]gﬁlﬁumﬁ@m qﬁju@g@mg
3. 1878w .cﬂgbca'zrr@.ug@ ﬂésep&;é L Ss o1 r'r,e_'r;g,gj' -
4. @euelussind ‘oibfls s ugaT Gréisr@ub usdfsemsmu Qeuafludl 1 g
CuGe G L auréd wéSe sflumeneas araneu?
A) 1 wpyid 2wl
® 2 S e
© 1,2 wpmb3
D) 1wpmid 3w G

(E) e&fenr Qs flwellerana
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123. Which one of the statement is incorrect regardmg Gokhale”

B
3

(A)

He $tarted Servants of Indlan Somety’ n 1905

He went in to South Africa and helped Gandhi in his movement against

Colour bar

Gandhi accepted Gokhale as ‘Political guru’

Gandhi described Gokhale as dlamond of Incha, the Jewel of Maharastra and

Prince of Workers

1 2; 3, 4 are correct

'(B)/ 1, 2, 3 are correct only 4 is incorrect

©)
(D)
(B)

1, 3, 4 are correct only 2 is incorrect

1, 2 are correct 3, 4 are incorrect

- Answer not known

£Q$6&TL mﬁ@;&aﬂeﬁ_@&sn&@@mm udM Heupren sahml erg)?

1

2.

(A)
B)

(©

D)

(E)

GanaCe “@odw Lemflwimer SLpai” erem <ianwlienus 190546 e:f;bu@g_i;ﬁlemrrr‘r

.@GLH'T Qgen o ubflssreine @&éﬁ@g ;ﬁlﬁ)@eﬁgﬂsﬁjm crdltdg srhSuLcn Bamenhg)
uenflwrhdlesr. ' =

anhd CanaCaamu sang) ‘é{l}'ﬁmd} G(Heu rra;' FOmIS QsmerrLmi
&HS) Gia;rra;@ensmu_i Gndwreiler emeuywd, ma;qnmlq_grraﬁlw Bens, Gg,ﬁ@a)rrmrr&.@ﬂem

@meuu&cm GTEuTm) mrrsmﬂa;aﬁ]mmrrrr

1, 2, 3, 4 sapmaer sRlwTaTaey

1, 2, 3 spmiseT FlwTaenel 461G FapD SEUDTHS)
1,3,4 aaxg)g}a;dT &rﬁurrmemeu 2618 saHM) SHEUDTEIG)

1, 2 sapmser sflwmereneu 3, 4 éug;; FDMIGET SUDTENS)
enL QsMwiedeee

g e ~ GRiPA21
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124, Who served as British Ambassador to the Mughal Court?
(A)  Bernier (B) Edward Terry
(C/ Thomas Roe = = (D) William Hawkins
(E) Answer not known :

psomu spsmade 9l ig 6y sigeurms LaflurdBHlueT wirr?

@A)  Quiafiur i (B) ereui Qs

(C) smoev Gy e D) eNevedlwib ammsdlenen
(E) &levr Qsflweiidvana

125. Who was called the “King of the Two Worlds”?
. (A) Tipu Sultan (B) Hyder Ali :
(G./ Doondﬁji Waugh (D) Veerapandiya Kattabomman
(E)  Answer not known : : '

@UWQ 2 MG TS GTETN @ PESLILIHIUGIT W ?
A Aoy sesrern ' B) @awsi i
(C) sramLTsd eund I : D) eSpunerigw s GQumbLoe

(E) ofenr Qg fwedcvensn

126. What is Density of Population? :
(M The number of people living in pef (one) sq. km.
(B) The number of people living in 10 sq. km.
(C) The number of people living in 100 sq. km.
(D)  The number of people living in 200 sq. km.

(E)  Answer not known

&5 Qsrens Cele eranmme eremen?

A)  emesy Ao B A uSl&@ D wesafler craranfléEms
(B) 10 ey HCGeom BL_L_Med @JQSE@')IJD & el erenTentlGans
(C) 100 &gy &G B M audléid wésaflan arameanisms
D) 200 557 ACr B L Ad aifseib bisefdn craimenléms
B e Gofluciasme ' '
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127. In 1929, at a ‘Self Respect Movement’ conference in Chengalpattu, Thanthai Periyar -
- passed a resolution relating to an important matter —

— In 1989, 60 years later, Tamilnadu had passed a law in thls regard.

— On August 11, 2020 Supreme Court passed a ]udgmen’c in this regard.
What is this?

(A) Giving equal rights to woman in Government employment

(B/ Giving equal rights to woman in family properties

(C)  Giving priority to certain communities in acquiring land rights
(D) Giving priority to certain sects in accessing holy places

(E)  Answer not known ' '

1929 oy op@n® Qamsoulgd smiLiull sunfutes Quss LIBTLIGD, SHOS
Qulwt @i wpsdw efLwib Qsmiurer Sioreados GuddlernT.

— st 60 SaETDsER6E D@ 1989 24ib Ky 6, SIPSD Sigoar sLomE QuDBluig).

— sevl: 11, 20206 2 sabdloempid 215 Ggm_rrurrszfr {%rruemuu_]m m@maﬁ]ug

Guasmamib LgSuld spruL el wib wng?

(A) QuamansE ine Geuened eumiiti9eéy 1o o Meio

B) EObUsTsHe QuaTamiss sw 2 flemw :

(©) emdae &@oa&r&a&@é@ Hleod 2 Menio QumieSle peeflain

D) an e GfesErss Lals @i_rma;aﬂso mewpadle apargfienn

(E) el Qsflwefdame

128. As per Vel Pari’ the book written by Thiru. Su. Venkateslan, the Sahitya a'cademy
winning writer :

(a) “Paari” was a man of nature who knew birds, insects, plants like the back of
his hand.

; (b)  The story “Vel Pari” was that of conflict between man’s gTeed and nature.

Which of the above statements is / are correct?

(A)  (a) only : (B) (b) only
(& (a) and () (D) neither (a) nor (b)
- (E) Answer not known

srdgu  sism @mm@ apsgert S & QeukisCLsear  SjeuTEeTTed  GTEpSLLILL
“Geuerr umﬂ eremp medlen Lig. 2 eter sMwimer sapen / apmsear Caiay QElwe|b.

(a) urf)” Lpeeuser, LFfser, sreurmser dweipenn Lpl Qpafleursayid, Afleursaid
gl@g,g]@gg; BQupens sibs m@ﬂg)rr 2@ :
() “Geuetumf” semsWITEE) DETSE 6T Céul;rrrsm&a;@m @UJQJGH)&SBE@LD @mL_ufﬂsurrem (PIyEnamT

- uDETHHSDG. ) |
(A) (@ uwvipo (B) (b) L@ . =
©)  (a) wpmid B) D) () o> Qome (b) yb Gowe

(E) eflen QsMweievana

n R Tl GR1P/21
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129. With regard to the review related to the Tamil Film and master piece ‘Pariyerum
Perumal’, choose the correct statement(s)

‘(a)  Shows the ill effects of caste system :

(b) It won the Film Fare Award under the ‘Best film’ category

(¢) It was a movie directed by Thiru Mari Selvaraj and produced by Neelam
productions. _ : |

@) (a)only _. (B) (a) and (b) only

@ (@), () and (©) D ©only

(E) Answer not known

s@&IpHs L Liumer “LiflCuigid Gu@u)rrerr eretm SOID Slengui b upMlw edlwirserd @ﬁlgg,
Epsramib smpyisailer/samphe sfluraraupan Caiey Clswiweyd

(a)
(b)
(c)

R GY)
(©)

(E)

@uuib srdws sL_Lenioli e Qamg i eﬁisﬁ)mmﬁmm &9 &8T_HEng).
@UuLD ‘Bs&dlpis UL aan euflasuda Qe bCui ellmgl Qubma .

@uuLd Hm. wrf @&Gua.rurr%rrm @u_l.sssauul_@ Bon surfiiy EGuwsste
QeuefludlL i L gy .

@ w. pn (B} (a)mﬁ)gm"(b)m;@m.

(@), (b) pgibd (c) (D) (0) vl
eflen Qs Mulefcvaney

130. Why India has not become self—rehant in ed1ble 011 productlons?

L High eultivation cost
II.  Low productivity
II_I. Lack of Government support
Deficient domestic demand - :
(A/ IT only (B) IandII
(O I, IlandIII : : (D) Ionly
(E) Answer not known '
FnWE eramQanis o HusHude gren @ndwur shemiy qgwsml_umﬁlaama)?
L sa(hsener snGLIg CQaeay
IL  eopss 2 pusd Hper
L s gysrey Qame
IV.  Gurdlw 2 drpm () Coaes Gerenin
@A) II w G =2 -~ (B) Iwpgd I
(C) I II wpgyb III . D) Iwv @b
(E) e&flen GsNweleranad
- 70 - .I . n
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131. Which one of the following agricultural practices is ecofriendly?

(A/ _Organic farming

(B)  Shifting cultivation

(©)  Cultivation of high yielding varieties -
(D) Growing plants in glaé.s houses

_ _(E) Answer not known

 énauqsid efleusT (penpsaile a5 GRS BUL?
(A) ﬁrﬂm GeuarmaiTenLo
(B) en@UY LTHYD
| (C) 285 DHEE H(HLD eUmssHailen &rr@;u-zq.
D) seimemny eS@E6Mé b STUTEHET
(B o Asflusidme '

132. "Every registered Land holder is its proprietor". The system is call'ed. as
. ' (V Ry_otwari system . :
(B) Mahalwari system
'(C) 2 . Zaminda’rysystefn _ %
(D) Mugalayar system
(E) Answér not kﬁown
. "ufley Gl _lfﬁleu‘e_}"',@g, daiggidter @abanmaipd Sigar GembssaTyi et @Qbs -
(PODDW QAT SHMPESEMD = :
@) @rmugand geop
B) wsoenf @m '
© @bl geop
D) semur ipen
(E) e&len Gg,rﬂu;laﬁlsbmeu

A | ' = _ - GR1P/21
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183 Identlfy the sector(s) of Indlan Economy which are the most affected by Covid
Pandemic — ;

(a MSME sector
(b) Aviation sector
(c) Tourism and Hospitality sector

(d) . Telecommunication sector

(&) (2)and (d) only @), (b) and (©
(C). (donly S (D) (a), (c)only

(E) Answer not known

Gpdu  Qurmerrgrygder, Csmaill @u@;a@g,rrmmrrm Lﬁ]asmm Curewns urré]as&uuu_
Slenm(&er) —

(@) Ay wpmb pESST Agmdgser (MSME)

(b) G)QLD-WSDT Cuns@eursa

(c) asHmerwHHD Gﬁ@gb@‘gmbusb Qgmfrumer Ggmfledser

(d) Qs @g,rrLr'rq gleow

@  @wopp> Qoiod B) (a), (b) wppd ()
© (@ wien R D) (a), () L EW
@) el Qsfluiclédame

134. Which of the following states has shown the declining trend in the (GST) Goods and
Service Tax for the year 2019-2020?

(A) Uttar Pradesh, Rajasthan and Assam
(B) Haryana, Rajasthan and Mehalaya __ :
(C) Andhra Pradesh, Mathya Pradesh and Manipur
(V Maharastra, West Bengal and Tamil Nadu
(E) Answer not known I
2019-2020 b =y evriq 601 Goanew LDg)QJLD &7&@ eufl eu@edled @Gmg)gbg;.j a;@m Cursg &nm‘ruu@m
LOMHleRIGET Limame.? : :
A) 2587 ArGae, TTRELSTET LOHMILD SHFTD
(B)  emflwren, pregevgmen whmitd Giosmeomum
(C) <pdr AGsen, ws5w GrCsaib LHMIL wenflLiyT
(D)  wanmryres gm, ComeE eumkisd LHMID SLODHTH
) oL Gsfusdome ' |

GR1P/21 i W o o



135. Consider the following statement.

The objectives of fiscal policy are

: Capital formation
2. Equitable distribution
3. Unemployment

4. Regional Balance

From these, which are correct statement?

(A) 2,3and4
@& 1, 2 and 4
(C) 1,3and4
D -1,2and3

(E) Answer not known

Sleeu(pLDd saheanm Seuefl

HlHé Qsnaersn CrrésiseTTeleT

i @Q)g;em 2_(HEUT&ESLD
2.  swwrer Ldliey
3. @mmmmn&ﬁﬂs&rmm
4. FLDGUL_LITY eueTT&s)

Geupmier, ereneu sflwmen samﬁ)g?
A 2,3 Ln;b@;fo 4

@B, 2 wHmib 4

C) 1,3wpmbd4

D) 1,2wpmbd3

(E) oo Qgflwehlereney

73

- GR1P/21
[Turn over



136. Consider the following statement.
The objective factors for detérminants of consumption function are.
1. Motive of ﬁrecaution
o Motive of liquidity
3. Motive of avarice
4, Laissez-faire policy

Among the above, select the correct statement(s)

(A) 3and4

(y 1, 2and 3
(C) 1,2and4
D) 1land4

(E) Answer nqt known

Wereu(mLd gnhenm sauaf.

&6y sMienLs SISTHHTD SiEeiL peian sTranfsearTea

4 & penangasflsans Crrasd
2 Brenio eanto CrIssLD
i Gugnens Crmésid
4. . g,ea;@)uﬂurés Gsmerens

Cuesranib sapmisefler sflurareunenn Care] Qaw lLJG};|Lb '
(A) 3 wHm 4

B 1,2 opmo3

© 1,2 wpgd 4

D) 1 wombd4

(E) e&fen Asflwslldvenay
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187. Which is not related to direct tax Revenues of the central government?

138.

(A) Taxes on Income
(B) Taxes on property and capital transaction
(C) Taxes on commodities and services

(IV Taxes on dividends and profits

(E) Answer not known

wHSIw @ﬂq.r,rtﬂeh Cpiig euheuruiensdler Asm i Qeenss) ergl?
&) eumomrer eurl

(B) Qengg wHmib epeger aurl

(C) uenLs M uafl eu

D) uré;aarrg)rr@ O @evmit el

(E) &fevr Qsflwelecrane

The first blue print for Indian planning came from an engineer administrator

(A)*” M. Visvesvaraya

(B) Nehru
(C) S.N. Agarwal
(D) M.N. Roy

(E) Answer not known

Qpdwimellem rl‘_ﬂl'_l_L&I_@jéS&;ITGﬂT aumrULksdr wpsdle ehg Qumdlwirert Blieundude Blmba
Gulhg e |
(A) M. eflevGeueveugwim

B) Cpm
(C) S.N. wsmeumed
(D) M.N. gy

(B) e&len GsMweldena
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139. Consider the following statement

3 5

2.
3.

4.

Bihar, Madhya Pradesh,'. Rajasthan and Uttar Pradesh have very high

‘population.

In India, Kerala has the lowest birth rate

West Bengal has the lowest death rate

Total population
Land area of the region

The density of the population is

Among these, which are the correct one(s)?

@
®)
©
®)
®

1 and 3 ; THE QUESTION AND ANSWER ARE TO BE

: PLACED BEFORE THE EXPERT COMMITTEE
! 1 FOR FINAL DECISION.
2 and 3

1,2and4'
3 and 4

Answer not known

Genaumid sapep seualéss

1

2.
3.

4.

CulCe senr_eupmier sflwuirarene cTaneu?

@A)
B)
©)
(D)
- (®

GRI1P/21

Ser, wgdw GrCseid, @rmgeavgmar whmb 2 587 ACseb Humes s WwoHsET
Asneng GerarrL wrfleowmEd

Cayarr Wss eoppbs iy 9450 Qsrar(BHérers

Cupe eumsred Wss Gopbs @iy dldssms Qerar(eras

LOGSHET Qg,rrmas SIS eremiig err'e_'r,g, &5 Bgrens

SUuGdulen Hleoliugiiy

faCadall wpgw el Gng) @y ellpsrs

1 wpmid 3 ) | alogIni @pallda e madsiuL 2 darg).
2 womid 3 | : .
L9 gk
3. wHmib 4
eflen Qzsflweldeme -
76 83 0



140. Which are the correct statement(s) related to ‘T-Bill’ Treasury bill?
(a) They are issued by RBI. . |
(b)  They are issued by Govt of India.
(c) Treasury bills pay no interest.

(d)  These are long term debt instruments.

(A) (a) and (d) only @) and (c) only
(C) (b), (0) and (d) (D) (b) and (d) only
(E) Answer not known

Spanamib sppseie T-Bill’ (Treasury bill) @gm_iurer eflwrareupenn Csirey Qeuiuiab
(@) e @g&u fareu euridlwre Qeuaflud LB demmer. :

(b) Siemeu HFHW Sirere CeualulL Lu@dermer.

(©  eupdlern By el g Frl'_l_@u_lsung,j.

(d) e ApBEsT® S LSSFHISET < ELb.

A @opppQoipe B) ®) wppi (© 0l
©  ®), © wppid (@ @) () whpid (d) 1w Gid
(E) el Qsflwefdane

141. Thanthai Periyar wanted people to consider the following as equal to their lives
(A) Independence for the motherland ' '
(B) The family honour

Q) Self-respect

(D) Rational faculty
(E) Answer not known

shos Quilwn, wasdr grser 2 uHEE @UUTS GraienT (Séjsdrr@r_b erem &fl (L wig)
(A)  smi pmligern eSlHseme

B)  EOLU searab

(©) it whuines

D) uessdluwb Spar

(E) dflenL Qsflwellerana

n =l iR GR1P/21
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142. Consider the following statements:

1. The term of office of the Attorney General of India is not fixed by the
constitution

2. The remuneration of the Attorney General of India is not fixed by the
constitution ;

Which of the statements given above is/are correct?

(A) 1only (B) 2only

«”” Both1and2 (D) Neither 1 nor 2

(E)  Answer not known
SpseRTL Fapen ereirentlLy UITfrée
1. @pdu smaamw apssieslear ugelsmab sirduaemblibd firammuissiiuLeldama

2. Qbdu soaomn apsshepilar sadun Sirdlueamblidd rjlrrsmuﬂ}asauuL_aﬂaumaJ
Qar@ssuuLBdrar aurddunisefia) arg #flwimeang)?

(A) 1wl @b (B) 2wl @b
(C) 1woppgwb2 (D) 1 womid 2 syee
(E) e&fenr Qsflwelildvena

143. A Chief Minister supported by Thanthai Periyar challenged that “Show me a person
who died because a lower caste doctor wrongly injected or show me a building that
collapsed because it was built by a low caste engineer”. It was

(A) Omandur Ramasamy

(V Kamarajar

(C) Arignar Anna

(D) Kalaignar M. Karunanidhi

(E) Answer not known

shavs Quilwriler eareLer (pseEsT et Gelaurn saumed SNBSS @ “Snphs srdl
wmSgeT supts 2afl CurlLgmed Qnps ¢ wallsamy aeaeilid sramissad Siowg

smphs 1 Qurhlureryme sa&ibg Curer @f sl igL Smg eenaill b sTamdssan.” @eueurm)
FaOIWLIeUT Wmr?

(A)  qubsnt GrrosTd

(B) amopmgT

i i e

(D) soaEsT . &@@ﬁn@@
(E) efenr G@sflwefcrensy
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144. Consider the folloWing statements.

A high court has jurisdiction to

1)

2
(3)
(4)

Punish for its contempt
Tender advice on a legal question referred by President of India
Tender advice on a legal question referred by Governor of the State

Issue certain writs to protect fundamental rights

- Which of the above statement(s) is / are correct?

@y (1) and (4) only
® (1), (3)and (4) only
(© (@), (@), (3) and (4)
D) (2) and (4) only
(E)  Answer not known

o wiHwern sifanyb QgmfLrar SpsarL sapnsmer seuaflésaylb.

(1) Bwern SieuSILISHEHEE ST HET QULDEIGSD
(2) @ndw Gyurs sl O(Hbs <G rr&cwmasd‘r@asr'_s;uul'_l_neb 2GS GULPMBIGTLD
(3) wrhle %@‘r_ﬁrﬂu&@ﬁ)@ 2, Carsmenser Cal sl LTe) g CULPRISETLD
4  eglueL 2 fAowsmer uﬁéjssrruug,ma;n& Hea Gu TTeDemS@aT Qp9&semib.
@eunile erg) sflwimen sahmi?
@A) (1) wppibd (4) LB
B) (1), (3) wpmid (4) LB
© @), @), 3) wombd (4)
D)  (2) wpgd (4) LG
(E) oflenr Qsflwelvenew

) S GR1P/21
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145. Which of the following statements are not true?

(a) In 1969, the Government of Tamilnadu appointed a two-member committee
called Rajamannar Committee to examine Centre-State relations.

(b) It recommended that All-India services should be abolished

(¢ It recommended that Finance Commlssmn should be made a permanent body
(M (a) is not true : '
(B) (b)is not true

(C) (c)is not true

(D) (a), (b) and (c) are not true

(E) Answer not known :

EpsraniuBb eursSwuriselle ereneu/ (gi) seupreng/(eeu)?

(@) wsdu wrble 2 peysmar ey el 1969 b yar® SWBIPHETH 247s FryLoeTeTT
sOLig. eremm @rer® 2 mlileniaamens CaraL @ eerenn HUOSSE.

(b) = <idfle @nslwu Geanausamer elEs CouarT(Hib eremm LIMHSIMISSS!.

(0 Ff gemewd Slgpeiul. em Blisr @wlurs Qmes (SQJGIEBT@L'D.GI'GDTQI
uflbgiersss)
Q) (a) sauprang
B) (b) seupreng
- (© (9 seuprang
(D) (a), (b) wHmid (c) Faupmaneneu
(E) &Seor Qsflweleoeme

146. Which schedule of the Indian Constitution spe01ﬁes the powers authority and
Responsibility of Panchayat?

(A)  Seventh schedule (B) Sixth schedule

(C_)I Tenth schedule (Mleventh schedule
(E) Answer not known

QpHu srflueewide by ol Lamanied LEsTwss wapulear hpe, Haryid
wHmb Qurmtiyser GHluGL LUl Hereren? .

(A)  Teug =il L_euamesnT : (B) 6eug =i L euanemr

(C)  10eug =i’ L cuenent D) 1lleug o' cuevanr

®) oo QsRiseidema |
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147. Consider the following statements :

148.

L Governor is appointed by the President

II.  He is the nominee of the Central Government _
III.  The Draft constitution provided for the indirect election of the Governor
IV.  The Constituent assembly opted for the indirect appointment of the Governor

. Choose the correct answer :

(A) (D) and (II) only correct (B) (I) and (IV) only correct

(MI) and (II) and (IV) only correct (D) (HI) only correct
(E). Answer not known

PGS aHED SIHSELD |

E S EBBIT Gl LTS FoeeurTe Hulsstiu@d

II. el wsfu sirsmhsssme Bluwend Qb Hui peumt

IIL. ° eauepe; Sipflueebliyé s Lib < @HBbT ;F;]wmmg,g]gp@ weonws Csisd wapei

: aupmISlwig)

IV.  spflueswiy fiemw seu, egi,@‘mrr Cois@ié® wanps Hubear wepeni
T(H&gI5 Q&EITGSUTI_QJ
 sflwrer elenL_eou QzMbosHés -

@A) @ wpgd () @b sfl B) @) wpmd (IV) v @b &M

©) @) wogw AI) whmb V) v @wefl (D) III) w .G &
(E) &len Qaflwellcraney

Which of the following Institutions has the final Power of deciding on the

Composition of the Upper House of the State legislature?

(ﬂ/ Parliament

(B) State legislature

- (C) Lower House of the State leglslature

D) ‘None of the above
(E) Answer not known

e &L wemp Cevensuufer 2 mii9art cramrenilEamsam ﬂr’raﬁruﬂiésa", Falq ui Blmieued wing?
(A)  umpmEBLETHLD :
B) wrfle L werpid

(C) wrifle gL ammsden Speneu

D) Cuoupadu eereuwb Edeame
(E) oflen Qsflweieene
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149. The Indian President has a veto power over

I. Ordinary bill
II. Money bill
III. Constitutional amendment bill
IV. State legislation bill
Which statement given above are correct .
(n/ (@ and (IV) only (B) (IV) and (III) only
(©) (@), (II) and (IV) only (D) () and (III) only
(E) Answer not known '
@A Glgwrs s agar gl 155 Qeldanm fsmsms Gemdg.maESpmi
19 gngnyewt GETHT 15g)
II. 35S m@&ng,rr 185
III. ewdueawliyg st L Hmpss wCserst Bg
IV. wrfle sl wCsrgm g
Cupamdlweupmier ergl sflwireng?
@A) @ wpod dV) vl @b B) V) wpgid (L) w @b
© @, (D) whmib AV) v Eib (D) 1D) wpmyd AII) v Eb
(E) oo Qsflwefecrene
1500 1 Money Bills can be introduced in the parliament without president’s approval
II. The finance commission is appointed by the president
Which of the above statements are correct? '
(A) () only Eo MI) only
(C) Both (I) and (II) (D) None of the above
(E) Answer not known
L. #4 m@&ngw, syarmludluden Lufipgeruleand) Brmepwamsdle Grése @&u'_luﬁu U@
II.  @sduPé semearubd gamdudumd BlubéssiuGEng.
Cupadueundle ergl FMluimerg?
@) O wied ' (B) (D wLpod
€) @) wpgd (ID) : (D) Cumhsear ereneuijfidvanay
(E) o&fenr Qsflwelcena
GR1P/21 82 _ n



151. The council of ministers of the Parliament hold office during the_ pleasure of
(ﬂ/Prime Minister (B) President
(C)_ Parliament (D) None of the above

(E) Answer not known

BILMEHLOETD DiennFarenal Biglilgl, Geursl < @henowime

@)  Gysio wd " (B) gamdud

(C) ‘r_r,m_rr@}mésrgnb (D) @Gma.l 6Tgle| b @)eene
(E) e&flevr Qs flweiidvens

152. Which of the following articles broadly Govern the relationship between the
Prime Minister and the President? ;

(A)#” Articles 74, 75 and 78 (B) Articles 51, 74 and 75
(C) Articl_es 85, 74 and 75 - (D) Articles 74, 75 and 79
(E) Answer not known " '

emeu(mLb 6T eflflsar mamdud wpmid Wysw wiMuder 2 peysmer efeufsfamenr?
@A) s T4, T5 wHmd 78 B) st 51, 74 wpgib 75

©)  oifad 85, 74 wpmid 75 ©) ofifser 74, 75 wpmd 79

(E) e&Senr Qsflwelidvena

153. Directive principles of State Policy are described as "life-giving provisions of the
constitution" by

(& L.M. Singhvi (B) Ambedkar
(C) Rajendra Prasad (D) Radha Krishnan
(E) Answer not known

<sirs Cury awflar’ () Carearanssdr aeaug ‘irdweamblibdne 2 ulralsgn ellfsermgn’

T - Fa e, -
A) e emid. Sliell (B) <iwbCusst
©) @rGgidy Gysrs _ D) @ursm Hmeyamren

(B) efeL Ggflwelidene
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154. Consider the following statements on Fundamental Duties :

1. Parliament cannbt enforce i_t by a legislation

2 It is applicable only to Indian citizens . |
3. All Fundamental duties are either moral or civil duties
4 Paying taxes is a fundamental duty '

Which of the above statements are true?

(A) 2,3and 1 are correct

(B) 1,2,3and4 are correct

(_G/ 2 and 3 are correct

(D) 1, 3 and 4 are correct

(E) Answer not known

g LU & SLewser Qarfurear Spssa. aursswkismer seuaflsasea,b
1. prLmEpoenph &L gl apabd Gams SouUbiSS (Piguns
2. @g @B Gl40&sEHECs QuTmBEEID

3. Smansg Sl SLOWsSEREL @uss pflsemarCur g

sLepamerCLIm Bjg L ns Qaram_ame.

4. DIT&HEG euflsemer @&@[&g{ﬁu@iﬁ (1 Sllg LILIML SL_6OLD
Cud smpliul.(HereTeuhmier eTeney &ﬁ]wrrsb'rmeu?

A 2,3wpmwl &fﬂunmana_ll

(B) 1,2, 3 whmpw 4.&Jﬂu_1rr6mmeu

(©) 2 uwpmb 3 sRwreea

D) 1, 3wpybd 4 sflurerensy

(E) oflen Qsflwelcvens
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155.  Which of the following fundamental rights was converted as legal right? _

156.

(A) Right to Equality
(B) Right to Freedom
(C)  Right to Religion
W Right to Property
(E) Answer not known

GereumeuaTeuDIeT eThg iig LiLienL 2 Menio &L L 2 Aeowins IHOUILILL & ?
A) swgge 2 Mew
B) &F5HST 2 Mepwo

(© 1058 few
D) GlemggiflenLo

(E) el QsfNlweldrenew

Identify the fundamental duty that was added in 2002 by the 86th Amendment Act.
(A) Respect National Flag '

(B)  Defend our country

(C) Develop Scientific Temper

(QVTO provide opportunities for education to children between the age of 6-14
years

(E) Answer not known

20026 861 iflued sTFET H(HSHD FLID APOLOTS Gendslul L Sl sLebw

a5,

A)  Goélu Gamseu oHssd

(B)  BLg BIL®L UTHSTESE

C) <eiflelwe 2 ariene: CbLBSSSE

D) 6 wsa 14 aung GYHmssERssTaT 5060 SHELD CUTLILIL] QUGS
(E) ofenr Qg flweileranes : |
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157. Consider the following statements :
i The consititution of India establishes a Parhamentary form of Government
II.  Prime Minister is the Head of the Government
III. President is the Head of the Government
IV. Real executive power rests with the President of India

Choose the correct answer from the following :

(M (D) and (II) only true - {B) (1II) only correct
©) (II) and (IV) only correct (D) (IV) only correct
(E) Answer not known '

SDES@TL SaHeOD &([HS6LD

L @Hw DS ueambliLg FLLID UTTTELOED SipaTHs papamu Hipedujerers
CIL Qo sipsmhisgdlen SEQEUIT e

III.  GYurs So@eT SFTRSSSE SaMmaeul et

IV. @uuissooal 2 arawurer dswem g < Slemyb QamarL_euit

sflwren ellepL_enw seiTL_H& _

@A) @ wpmw AI) w G &fl (B) (III) w._@w &
(©) (I) wpmidb IV) L Hib & (D) (AV) wl @G ad
(E) oleo Qzflwederene . .

158. By what name or names is our country mentioned in the Indian Constitution?
(A) Indian and Hindustan
(R)#” India and Bharat
(C) Bharat
(D) India, Bharat, Hindustan
(E)  Answer not known

@pdu Sirdueeanlife GHudL LU Herer @ pSuimeiler @uwim wmg?
@) @pSudrwppi> @peidsrer

(B) @pdwr wpmib LTySD

(C) unpsbd _

(D) @nHur, LTysd, GHeiEvSTE

(E) efenr Gzfwellevene
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159. Match the following :

(a) Article 39(b) 1.  Protection of Ecology, Environment from Pollution
(b) Article 48(A) 2. Equal pay for Equal work

I. (¢) Article 39(d) 3. Free legal aid to the poor
(d) Article 39(A) 4.  Abolished hereditary property

@ O © (d)

@a) 1 2 3 4
@ 4 1 2 3
C) 4 3 2 1
D) 4 1 3 2
(E) Answer not known
| &psar_apeon QUTmESs :
(a) &l 2 miiy39(b) 1. @wawued womb &HYIF G wraum g elmHs)
| | | LITg STy
(b) &L 2miy48(A) 2. &1 Ceauenevd@ Fio 2ardlwitd
() &l 2muy39(d) 3. gy aaiu E5EREE Qs &L 2 56
td) FlL 2 mui 39(A) 4.  ugbuemy QFTsgIL®W SNSSH
@ B © (d)
A 1 2 3 4
B) 4 1 2 3
T B B
D) 4 1 3 2
(E) o&flenr Gasflwelidvena
D _ . - GR1P/21
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160. Match the following :

(a)
(b)
©
(d)

A
®)

D)
(E)

2
1
Q74 5
4

Preamble as

Political Horoscope

Keynote to the Constitution
Soul of the Constitution

Paradise of Lawyers

@ b . © (d)
1 3
2 4 5
o
1 3

Answer not known

CQummSgIs :

(a)
(b)
(©
(d)

(A)
(B)
©
@)
(E)

GR1P/21

wpsULeyullen ung I
STl RIEHELD
2rfweaoliGer smedl
<Sirflweentolide e

auss e isefler Qamiésd

@ ® (© (@

1 2 3 4
2 1 4 18
ok 2 1
Ty 2

aflenL Gsflweidvena

88

e e D

ARG el L R

Said by

Sir Ivor Jennings
Thakurdas Bhargav
B.R. Ambedkar :
K.M. Munshi

Earnest Barker

Fafleur

& gneurt Glegerentini
SMNGSTEN LIT&56]
9.2, SADCLISSHIT
Cs.arib. (pend]

GTITETGL_ LIMT&SST



161.

162.

163.

Find the value of k if
184928 44 1P = 44100
@’ 20

(CF <92

(E) Ansv?er not known
k - i srems.

1° + 2% +---+ k% = 44100
A 20

() 22 _

(E) &L Qaflwelcrens

(B)

D)

€2)
®)

21

23

If A=2% and B=2% + 25 4+ 2621 ...42° which of the following is true?
' ('R/ A is larger than B by 1
(D) B is 2% more than A

(A) B islargerthan A by 1

| (C) A and B are equal

(E) = Answer not known

Hemau(peuamelHBled 6T 2 eento?

(A) B sag Ageil 1 oisb

(C) A wpgid B gwbd
(E) oo Qaflwelidvene

Find thé missing number :
3, 12, 27, 48, 75, 108, —

Ay 147

- (C) 183

(E) Answer not known

N(HLILL CTERTENGRTE &HTEsTS :
3, 12, 27, 48, 75, 108,
(A) 147
(C) 183
(E) oo Qsflucidma

89

A=2% opmb B=2%+2%+ 2%4+...42°

GTENS

QarHssiul_Hererg — eTerled

B) A syeg Bgeil 1 oiflsd

D)

(B)
()

(B)
(D)

B syang Ageie 2% oidsin

162
192

162
192

GR1P/21
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164. In the given number pattern find the next term

21 321 4321
33’ 444’5555’

il 7531 1234
ezt : = ey

e 6666 & 5555
4321 R 54321

C i fomi!
S 2922 ( 66666

(E) Answer not known -

£l g ot - gTe1m UL D(HGS 6TeHTEn T &HITeuTd
33’ 4445555’ m i :
SR - 1234
Q) — -
6666 5555
4391 - . 54321
C ey ; T e
e 2999 > . B 66666

(E) el Gsflweleens

165. If ‘HUMBLE’ is given by the code EHLUBM. What does the codé EDUCATION

mean?

(A) NEDOIUTCA
(B) NEOIDUTCA
(C) NEDUOITCA
(B/ NEODIUTCA
(E) Answer not known

HUMBLE erérues EHLUBM argnip @i syciiqér EDUCATION oragyib @fiS®
asmans GDEELH?

(A) NEDOIUTCA

(B) NEOIDUTCA

(C) NEDUOITCA

(D) NEODIUTCA

E) e QaMicddame
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166. What is the probability of getting an even number when a die is thrown?

1
(A) o (B)

@ 5 ®

(E) Answer not known

olon w|

S UseLaw 2 KL HLAuTps @f @rleLliuamL aar oL lughare Bapsse, wng?

&)

f

®

©) D)

(E) e&len Qsiflsllerenew

o= o=
oot w|e

167. The present ages of Arun and Suresh are 24 years and 36 years respectwely What
was the ratio between the ages of Suresh and Arun, 8 years ago?

A 4:7 (B) 6:5

@ 7:4 _ D) 3:2

(E) Answer not known

Simerr wpnb &Grey sHCLITMFL cuwgGHET WaPGL 24 euBLEIFET WHND 36 eubL kg6
aafles 8 yahsErsE ey &Gray wHMID HET eugselar ffgn eeaeuTs

BBHH®ESID?
(A) 4:7 ‘ (B) 6:5
0y 1:4 (D) 3:2

(E) eflenr Qsflweiicenso

168. A and B together can do a piece of work in 16 days and A alone can do it in 48 days.
How long will B alone take to complete the work?

(A) 18 days (B)/;‘Z:L days
(C) 28 days (D) 30 days

(E) Answer not known

A oppb B 9du @meumd @earhs e Caumamu 16 prisella wpulur. A saflGu
<ips Caumamwu 48 prisdle wguurt aafled, B salCu <ips Comamwu aszmear

B sefled (pig LILImi?
(A) 18 prisar s (B) 24 priser
(C) 28 pmiser (D) 30 priser
(E) oflev Qaflweildvens .
n =m ' | GR1P/21
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169. 210 men working 12 hours a day can finish a job in 18 days. How many men are

. required to finish the job in 20 days working 14 hours a day?
(A) 156 men (BY”162 men
- (C) 168 men ¢ (D) 172 men

(E) Answer not known

210 yamaer pr@ammanmsE 12 wefl Crrb Ceuame Galig ¢ Coaumaeamw 18 Brisafled
iU, 2Gs Ceumaenws prblerranmis@ 14 wenfl Cryb Geume Gauig 20 prlsefle (1pigss
TESDAT Y ETEET Ggméu? : : .
(A) 156 yawrser - (B) 162 yawrser
(C) 168 syawraer \ (D) 172 syewrger
(E) oo QgMlweieraney:

170. If 5 persons complete 5 projects in 5 days then 50 persons complete 50 projects in

days.
.(A/ 5 days
(B) 10days
(C) 50days
(D) 55days

(E) Answer not known

5 puiger 5 Caummauw 5 prisefléd Gelig wpyliuf erafld, 50 puiser 50 Couenevsemer

Brisefled Glawig) apig LiLi.
(A) 5 priser
.(B) 10 prlser

(© 50 .‘LF)H'L._EGﬁT
(D) 55 priser
(E) e&fenr Gsfwelivena
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- 171. A mason uses the expression 2x® +16 to represent the area of the rectangular floor

172.

of a room. If he decides that the length of the room will be represented by 2(x +2)
then what will the width of the room be represented in terms of x ?

@A)  2x-2)
®B)  (*-4)

(Q” (x*-2x+4)

M) (x2+2x-4)

(E)  Answer not known

sligl Geumawrer emeut smpular Qsdueus ages smyuler urliuarey 2x° +16 erang
Sionailggs . Gsnam . oigar Berd 2(x+2) aards GHSSILLLTD JSOLIE X -6
EMTUNS S 6meu(meueTeuDmIET 6Tg)?

@) 2Ax-2) '

B (-4

C (x2-2x+4)

D) (x*+2x-4)

(E) ellenL Qs Mlwefdena

The volume of a solid hemisphere is 29106 cm®. Another hemisphere whose volume
1s two-third of the above is carved out. Find the radius of the new hemisphere.

A 21.5cm
(B): 12¢n
(G221 cm
(D) 23cm

(E) Answer not known

@ Sawro SiersCameargdlen é;w&meq 29106 5.Qs15. ‘apadled @rearT(h LIkI@ ST DjeTeyeTer
wpCpr e@rsCarerd @dlmhg Cemssiiu@wramed Udu orsCarargdear oprb
ereven? :

(&) 91505k
B) 12Qs.8.
(©) 21Qs8.
(D) 23Qsi.

(E) ofeni Qgﬁwaﬁ]éomsu
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173. The difference between simple and compound interest on a certain sum of money for

2 years at 2% per annum is ¥ 4. Find the sum of money

(A) 2,000
B) 17,500
& 10,000
(D) 12,000

(E) Answer not known

2% oy el gl 2 AHHEG @i SEREGE AoLss 8l B algsed safl alysEd
Ger_Cuwerer elgHuinsid T 4 erafleh Sieupblen iee cremen?

(A)  %2,000
B) 17,500
(C) ¥10,000
(D) 12,000

(E) &ferr Qzflwefeanc

174. The difference between the compound interest and simple interest accrued on an

amount of % 18,000 in two years is ¥ 405. Then the rate of interest per annum is
A 12% ®)#T5%
(C) 18% : D) 10%

(E) Answer not known

@m emLhsale T 18,000 BSgrear sl ( ey, saflaly gpHuapdler esdwrsd
% 405 erafled au(mL eul_lg 635D

A 12% ' B) 15%

Ly 18% | D) 10%

(E) oo Gsflweiidens -
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175. Find the rate of interest if the difference between C.I and S.I on 2 8,000 compounded

annually for 2 years is ¥ 20
&% B) 10%
() 15% D) 20%

(E) Answer not known

t 8,000 5@ @ran® YHIOEEEE AdLbEh Ml G alhseh, saf ol néeh GGy
e aer eflgdlwimed T 20 erafled eulig eigid snewrs.

@A) 5% (B) 10%

© 15% D) 20%

(E) eenr GsMlwelcrena

176. Find the principal on amount % 11,800 at 6% per annum for 3 years being simple

interest annually.

(A) 28,000
B) 9,000
( ¥ 10,000
M) 9,500

() Answes not knowr

epepran(hsater 6% saflai g eigib Qrss Agmens T 11,800 oiafi&Eh oigmas sTams.

(A) 78,000
®) 29,000
(€ 710,000
(D) 9,500

(E) e&lenr Gsflwelicvency
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177. The value of a machine depreciates at 10% per year. If the pfeseht value is
£ 1,62,000. What is the worth of the machine after two years?

(A)  £1,29,600
B) %1,30,600
) 1,31,600

By’ 7 1,31,220

(E) Answer not known

e Buipdrsden sHCuresw wdiy T 1,62,000. gaiCanm amBEEn @umﬁg@ﬂm
iy 10% Gopdng. crafld, @ran® yard s sfss Geelupbrssler i ererarn?
A) T1,29,600 '

: (B) 1,30,600
(C) %1,31,600
M =t 1,31,220I
E) e @g}ﬂmsr@mu

178. A sum of % 48,000 was lentout at simple interest and at the end of 2 years and
3 months the total amount was  55,560. Find the rate of interest per year.

m/ 7% | B) 8%
©) 9% : ' D) 10%

(E) Answer not known

sLams euphslul L g T 48,000-5@ 2 YyarBser 3 wiss sTasAHEL Her g;eoﬂsul_‘_@
apaid QupliLL L Qursss Agrems T 55,560 218 QhHss) crafle, el ly 6issmas Smams.

@) 1% _ ® 8%
© 9% s D) 10%
E) el Qg)ﬂmaf}sbmm : -
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179. - Raghul wanted to find the height of a tree in his garden. He checked the ratio of his

180.

~ height to his shadow length. It was 4 : 1. He then measured the shadow of the tree. It

was 15 feet. What was the height of the tree?
(A) 15 feet ' (B) 30 feet
@ 60 feet (D) 75 feet

(E) Answer not known

Qo sang Cam L &5l o erer @@j wrsdear o wrsms Pl el bant. GuTg Beul

' BIG 2 LTEDSUID, S| Blipellen HersasLid erhg 15 4 1 1 e allfgsH &mmemg,

agﬁ]gg,rrrr ety wpsdlen bHlpedeor f}mm 15 g eraflen, Lorjg,ﬁeu‘r 2 WIFLD GTEIE?
@) 15 <y ' = B) 30 =g

(C) 60 g D) 75 =g
(E) e&levr @g,ﬂu_laﬁiebmsu

A .shop keeper marked the price of an article as 15% more on its cost price and then
- offered 15% reduction for the article, then he got

(A) Profit

(_BJ/ Loss :
(C)  Neither Profit nor Loss
(D)  Profit as well as Loss

(E) Answer not known

R BSOS e Qummalien oL &8 Aeaude 15 s56Ssd dswrsd agean Ghss edame

: EEHDTT. g 15 sgeisd gerEnuUly ShH3) éﬁhjjuswem Qe crefleh B SSHTTIT DieL_HSE.

(A) . GOMLILD

(B) piLbd .

(C) emuwb G (lbL.:_L_(y)Lb Qeome :
(D). @ LI&eYLD B)(HEHGLD HL L DT&Se|D Q)(HEHGSLD
(E) L Qafluelerena -

97 =  GRIPZ21
i : [Turn over



181. A hemispherical tank of radius 1.75 m is f_ull of water. It is connected with a pipe
which empties the tank at the rate of 7 litres per second. How much time will it take
to empty the tank completely?

W’

®)
©
D)
(E)

27 minutes

26 minutes

72 minutes

62 minutes
Answer not known

. <7id 1.75 8 2 éter @i sieyGamer augais QM i @@;&@Jm Bore Hriudul Gerens.
Gumler epod 6lpmesE 7 Nl aign Qasrliquiadmog B Qmmﬂ@mm@uu@mnmnm '

Qamiigenw ereucuarey CrrsHe wppeugiors smedl Celiwiemb?

(A)
(B)

(©)
(D)

(E)

27 Bifl_miser
26 B miser
72 B8L_riser
62 Bl riusan
efflenL Ggflwellereney

182. Find the LCM of (x* - 1), (x% - 2x + 1)

(A)
(B)
(©)

D) (x+ 1)

(x+1) (x=-1)
+D)(x-1)°"

®Y (x? + Dz +1) (x - 1?

(E)

Answer not known -

8.Qum.w srams. (x* - 1), (x2 - 2x + 1)

(A)
(B)
©
@)
(E)

GR1P/21

(x? +1) (x+1)

(x+1) (x-1)

(x2 %1 (x - 1)

(" +D(x + 1) -1
aflenL Gz flwefldene
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183.

184.

Find H.C.F. of (x%y + xy%), (x* + xy)
A x+y : (B) xy

& x(x +7) | © *+y®

(E) Answer not known

(x®y + xy?), (x* + xy) S Hweuper 8.Quir. au. .

@ x+y . B v
© xx+y) @) =+
(Ej 6)5]6:91. Qg flweildena |

R B R

Simplify 5— + — of —

implify 2+409
gl
A 6—
() =
i
(R)/SE
8
C) 6-—
(€) 5
; ceoih
D 6—
D) S

(E)  Answer not known .

| &@di@aié?%—l-%@mg
@ 61
(B) '6%
© 6
® 63

(E) oo Osflueliame
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185. Simplify : % oo e fee—

g - : Rk

T - (B) 7
33 - ' 13
oy

(E) Answer not Rnown

4 3 5 30 12)(—27

_...+_. ______
PSS s 1

' B8 ' : 43
A) = | - (B) E
0 7 @

12 12
(E) _aﬂml_gg,rﬂwaﬁ]sbmm

186. According to Darwin, speciatiop is effected by

m/small continuous heritable variation
(B)  small continuous non heritable variation
(C) sudden he:_citable variation
(D) - sudden discontinudus variation
(E) Answer not known

- Unireflén snpplivg @anisdr erpen apaib CamppiedéstiL@danpan?
(A) .eﬂ,rf)]u_i QETLT LIy FTTHS LOTmIU (@ '
B) Adw Qsri wry ﬂsbsbrrg wrmyur

- (© ,ﬁtafr DL} EMTHS mn@un@

I D) et Asm_r&flwhn Lorrgjurr@ :

- (B) e Qeflweleens
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187. Agriculture Information Service Network (AGRISNET) was launched for providing
following information viz.,

4 Rainfall
II.  Fertilizers position
III. Minimum support price _
IV.  Sister departments of farm community
Select the appropriate combination _ _
(A) I, 1II and III _ M II'and IV
(C©) ILIllandIV : (D) II, III and IV
(E) Answer not known S '
eusmu sseuew Coameu eumewewlil] (AGRISNET) Spsramin Ogn@lide o direr
- 55EUOSMET H(HE DS
L wenlp Gumfley
II. 2 7 @iy Hleveurid
III. @eonbsuls sTy e
IV. uerenent sepssslen gleneant glanmaer LD
. efunen Cordasaw Gg;ﬁra.; Qeliwe)d . _ ;
@A) L II womwo III B) I II ooy IV
©) LI wpgip IV e D) II, III wpgd IV
(E) oL Gg,lﬂuaﬁ}eua)au :

188. Which of the following mczdents led Thanthai Periyar to agitate for Communal
reservation :

(A) Representation for the backward classes was very little in Government jobs -
(B)  The Central Government resolved to invalidate the Communal reservation
(C) The State Government resolved to invalidate Communal reservation

(Mhe High Court and the Supreme Court declared as invalid the Communal
: reservation for professional courses

- (E) Answer not known

SPSTEMID ThHE FOLIEUBIGET g,;j@g, Quflwrenyy m@uqmrrg, C\[ @@5&@ (Eg,emeu GFGUTLT)

Serieflenw Crradl o baluig.

(A) s Cauamesafle Gargmidlw G)J@I_IL[&;GTHGEST Wlas @emeuner rSHHldsgeun

(B) eu@uq@Jrrrﬂqureﬁr@:_uum£® Qadeng ererm wSHw 2iraeH Guindlu Srorerd

(©) G)J@uqmrrﬁu_:n@:r@L_uuréjﬁ@ Qeeeorg ere bl 2iga @unHBlu Srorerd:

D) Qsmfiperp swelduied e@lieurfwmen @LUUT&F£® Geeeng erar o wiTHEamm@pLd

' 2 FgBlwemmpLd agﬂaﬁ]gg@

(E) dler Cdsfluaidme .
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189 According sustainable Development Goal India Index 2019, brought out by the
NITI Ayog for the year 2019 Tamil N. adu stands

(A) First

(B) Second
-« Third

(D) Fourth

(E) Answer not known

2019 b ggah HH BCwrs QeveliiL. @pdwreilen Howssss68 aueT &S Gamer
BesEsd GO Gd, sWODHHTH QuOHHEED QLib '

@) @sorag
B) @uewr_meug
©) eparpreig

D) prensTaug)
(E) aﬂ_em_ Gsfwelldvenen

190. Water drop in space is sphemcal because in the absence/reduced effects of grav1ty,
the forces governing the objects are all the same and therefore the drop

(A/ attains a shape having the least amount of surface area.

- (B) attainsa shape_e having the maximum amount of surface area. '
(C) attains a shape having the least volume. :
(D) attains a.shape having the maximum volume.

(E) Answer not known

eflam@euafidier iy ellens Gererssante/Gepeurs @@ngmnsﬁ Qﬁn@dmﬂﬂsh WBgmer
- Smasg dassEnn Fwons Qmsdng. Qsamnd elarGeafluia ﬁrrg,gjaﬂm rrarrgu Camereuig 6y
Qupdlpg). Sisueuny Gamer eugauld GBI, Biggef

Q) Bass eopeurar Copurliy QsTETL ey auEmS THEDS.
B) Vs sdswrer Copuriy GararL augaisms G,rrj)aﬁl,mg.
©) Bsé @Gmgjem T LI(pLDEN Gl&manTL_ GUL:}.QJ{&';GO-J‘Q’; gHESG.
-(D) Ble oflswmen L6 QsTea el eusams TS ng.

(E) - &len Qs welleemen |
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191.

. 192

Athikadavu - Avanashi scheme is related to
(A)  Drop irrigation
(B) Pour - irrigation

(C)  Drinking water and Well Recharge

_(V Drinking water and Ground water Recharge

(E) Answer not known

@A) Qe @ S unsandHLLLb
B)  Qaefud B ursesdl Lib

©)  ©ubiwond darpsdr Gedlay’ G S b
D) @bt oppd Bosse i Geday G i
E) e Qsflueidme

Why Chennai is called as “ Detroit of Asia™?

(A)  Due to the presencé of Textile Industry
(B/ Due to the presence of Automobile Industry
(C)  Due to the pr_e'sen.ce'of Leathér Industry
(D)  Due to the presence of Film Industry

(E) Aﬁswer not known

“gAlwrellen QL ymi " ereny Qearenar gar Si@was LGS ng?
@) geyeis Osmfe @miusanmd

(B) Guom L mit Gunaaéo{,&; Csmbler @ muLGarme

(C)  Camev Qgme @BLILISETED

D) daruug dsmfe @mliugene

(E) o9enr Qg,rﬂm@ﬁ]sbsmsu
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193 To reduce the Investment and the Incremental capital output ratio the followmg
" approaches are to be accomphshed :

I Static efﬁ01ency

I1. Dynamic efficiency
III.  Allocative efficiency

IV. Technical efficiency

(A) . L IIL IV only (B) I, II, Il only
(© LI IVonly - @ L vonly
~(E) . Answer not known

0] ngeﬁ'@ womd fsfsEn epoger: @m@ﬂuﬁn_(b\ ilflss5mss @a)ma;as Glebrau (LD
 SAGPPDSET BlepGaidpiii CeuesT(Hid

L feewrar Ceweadper
II.. wrmib Qewddner.

Il 65680 Geuddner

IV. Qsmfemnu Gsuddner

@) LILIV 0o o . B LILMMwihn:
O I n ey - O) 111, VoG
E) oL Osfucldme

194. According to All India Survey for ngher Educatlon 2019, which State produced the
maximum number of Ph.Ds. in the country in 2018? :

. (M Tamil Nadu (B) Kerala
(C) Maharastra : ' . (D) Gujarat
(E)  Answer notlknown
imanss @pHu e wit sdssner sarEAsEOY 2019 Wt Uy aHs orfieob 2018 We
2ifsLis aramafismsudene 19.678 1 seer ((poarauiisman) o (haunsslujererg?
@A)  sOpsTH - (B) Gayerm
(C)  wanyregggT - D) Gms
(E) e&llen Gsflweilevenc '
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195. Consider the following Assertion and Reason

Assertion (A) : Bringing down the influence of the rich and powerful people in
making Governmental decision making is the challenge in the

concept of ‘expansion of democracy’.

Reason (R) : People’s participation and their control in meaningful, only when
influence of the rich is brought down. It results in "‘Deepenin'g' of

: : Democracy”.

(.;,g/ (A) is wroﬁg but (R) is hEd
(B) Both (A) and (R) are correct

(C)  (R)is wrong but (A) is correct
(D) Both (A) and (R) are incorrec.t :

(E) Answer not known *

Epai(mid a;@_g@j LHOID STaRTd 4 weiHeD seuefl&sa,b.

smSa (A) 1 cgméméj_as @q@su@ggsﬂeb, uwé;&-rr:jr'rase'rr LHOL  SFHeTrd UL SS
pésallen Qedeuréms GopliLg emg “gamprus elfleurssn’ e
HHSS 6 FauTe) G, |

sryemtid (R) : - wésar umbs@iuy mﬁg& Saunsafler a;L@QL:rr@.sr_@'mu@ usomésa;nr;ﬁaﬁ@rﬂ@
Gsdaimise E@PSSLLELCUTE WLAGL GUIEGE®LLETE LD,
Do gaprLsH®s HPULOSHD pLoRSDELLIGD.

@A) (A s e (R) oo G s

®) @) wipid R) @ranGuosf

©  ® sam e @A) &

(I_)) (A) LoHmIDd R) Qe &l Sieve

B Ao Gsfucoms
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196. Assertion (A) : Access to Primary Health centres helps identification, care and
prevention of communicable diseases in rural communities. :

.Reason (R): More 6ptimum utilization of rural health infrastructure is expected to
yield expected results.

M Both (A) and (R) are true and (R) 1s the correct explanatlon of (A)

(B)  Both (A) and (R) are true but (R) is not the correct explanation of (A)

(©) (A) is true but (R) is false

(D) (A is false but (R) is true

(E) Answer not known

o ML & a%leoeiJ () : &gro éEsET SFETHTT @LWRSHET raflsnes gnEh GCurg

Sibwsseilen Cw Csmpo @EHUJ&;G&]G‘ET S WITETLD  STETeyLD,

asa.tc;oﬂasasa.!m g;@aaaseum o ga Hns.

sryewiid (&) : Srrolim &?&IH:ESITU Q_Gi'rfSSL:_L_;SmLDI_‘Ji_CI]a'ﬂ 2 &hs LWL
TS TCHIEEGD Laenais S(HLd '

A) (2), (M) @Ueém(a@ &fl. @saiLan (&) eremug) (2-)—eSler sfluwimen eflerdsd

@) (o), (er) et +f. Biei o (s aiis la el i dioeed i

© (o) &fl gyeme (51 seun SR

D) (o) soum spemed (5m) ol

(E) el Gsflwelevensy

197. Which is the first state to employ differently abled, in the Mahatma Gandhi National
Rural Employment Guarantee Scheme? '

(A) Kerala e Mamﬂnadu _'
(C) - Gujarat - (D) Karnataka

(E) Answer not known

warsor srhdl Caflu sars Coueme &(rngc;.]g, S g, wroms @mmmﬂasm@n umﬂu_lmrrg;‘e_ﬁu_l :
(PG OTHlaLD 6Tg)?

A)  Gsyerm (B) Igﬂ@gn@
(C_)_ GBRTTS (D) siBr_sT
E) e QsAwucfiome '

GR1P/21 106 < S



198. Identify the Personality:

(a) He was honoured with such titles as Rao Sahib, Rab Bahadur and Divan
- Bahadur for his selfless social services he did for the marginalized in the caste

order.

(b)  His autobiography is Jeeviya Saritha Surukkam which is one of the earliest
autobiographies. :

(¢)- He founded the Adi Dravida Mahajana Sabha.
Who he is?

(A) Thanthai Periyar

@/ Rettai Malai Srinivasan

(C)  M.C.Rajah

(D) M. Singaravelar

(E) Answer not known

%@sﬁ)mmm S| L_WITETLD STemTeLDd
(@ erd aflosled @HssLIULLAMGEESTS el CQols  saaLDHy &Q_Lpé;
- Comeus@nsans grey USgNT, greu sTHL wHmID Seumer LUSHIT eremm L L hisener
Q&srr@;jsgj OseryellEsiiuT Lm.
(b) 2jeUTg sWITans ﬁsﬁ]u_i Mg smHESD Y FbUsSTR SWaflengssatiey eeammm@ELD.
(c) Sieut 248 SHyredl warmer seLiaw Blmefat.
WITT < T? |
A spes @ufﬂturr.r'r
(B) @rieL woe Uheafleurser
- (C)  erb.&. prggm
D) - erw. Amsry Ceuam

(E) e&lenr Gsflwelcena
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199.. In Jahuary 2019; Indian Government approved the rher-ger of three Banks. Which of
the following does not figure in merger? : :

(A) Dena Bank

(B) - Vijaya Bank

(C) BankofBaroda
GV Lakshmi Vilas Bank

(E)  Answer not known

spaaurfl 2019-6 epenm eumElsaman @_@@éﬂm@w&;@; Qbdw Sive Sigind aiprdwsg. Shea
eréueuridl @)Bs emhadameaniida @b dupeildvme?

A)  Gserm aurid '

(B) éﬁ]g;urr ONALS

©) UGy auiid

D)  ooeigh ceomad cuiall

E) oo GsflweSlerenew

200. “Post - Tsunami sustainable livelihood programme for the coastal communities of
Tamil Nadu” is assisted by

(A)  World Bank -

V International Fund for Agricultural Development
(C) Asian Development Bank

(D) International Monétary Fund

(E) Answer not known

SODPBHT g0 2 drer sLCoTy wasERssTar samilss Ger Hooss aurpensT S LsHNE
2 56/8lng). '

A) o8 amd |

(B)  efeusmu Guibum i pHemer giralCas Halwib |

(C) =Aw euarddl cuid

(D) sreuCse pranu HlFluid

(EI) eflenL GgMweierene
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